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The following table shows (i) the percentage distribution of total number of products P and Q produced by six
companies A-F, (ii) the ratio of P to Q, and (iii) the percentage sale of P and Q. Total number of products P and Q
produced by these companies is 8 lakhs. Based on the data in the table answer the questions.

Company - wise distribution and sale of products

Ratio Sale (%)
Company Distribution(%6) of P and Q

P Q P Q
A 24% 5 3 65% 62%
B 18% 5 4 56% 78%
C 15% 2 3 72% 66%
D 28% 3 - 75% 60%
E 7% 4 3 64% 55%
F 8% 3 2 50% 48%

fmifea e () A T F B Fufal gRT IAed P 3R Q IR Ft F @A U= (i) (A) P ¥ Q FT 30 3R
(ii) P 3R Q P ufawra faw! &1 gxifan man §1 39 SUGl gRT IS P 3 Q IS F1 o T&T 8 ATE &1 AIferdT &
U U 9 F yR W UNt F I I

HUH! aR s 3R IdGl @ 9!

HUHT P 3R Q@ F (%) 3 fat 6
Pl Q P Q

A 24 % 5| 3 | 65% | 62%

B 18 % 5| 4 | 56% | 78%

C 15 % 2| 3 | 2% | 66%

D 28 % 3| 4 | 75% | 60%

E 7% 4 3 | 64% | 55%

F 8 % 3| 2 | 50% | 48%

What is the difference between the total number of products produced by company A and B together, and by the company
D?

1.1.92 lakh
2.1.53 lakh
3. 148 lakh
4.1.12 lakh

(1)1
(2) 2
(3) 3




(4) 4

DU A 3R B GHFT gRI U 9 FiHd Idrel & gal 98T 3R &+l D gR1 Fidd Iaiel @l 9o | fba- sidk g 2

1.1.92 T
2.1.53 T4
3.1.48 TG
4.1.12Tlg

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31701] Question Description : dwbv_pg_gp4_eng_2_q1l
2[Option ID=31702]

3[Option ID=31703]
4[Option ID=31704]

Sl. No.2
QBID:4201002

The following table shows (i) the percentage distribution of total number of products P and Q produced by six
companies A-F, (ii) the ratio of P to Q, and (jii) the percentage sale of P and Q. Total number of products P and Q
produced by these companies is 8 lakhs. Based on the data in the table answer the questions.

Company - wise distribution and sale of products

Ratio Sale (%)
Company Distribution(%) of P and Q

P Q P Q
A 24% 5 3 65% 62%
B 18% 5 4 56% 78%
C 15% 2 3 72% 66%
D 28% 3 4 75% 60%
E 7% 4 3 654% 55%
F 8% 3 2 50% 43%

fifeea oot ¥ () A & ¢ B8 HUMHT gRT Qe p 3R Q IR $1 Fa TB Ufa=d (i) () P ¥ Q FT U R
(iif) P 3% P ufyrd fask) ®1 gutar w1 §1 37 Hufdi gRT I P 3R Q IS B Bl W& 8 ARG 21 dTfersp1 §
2T T g9 F MUR W Ut F I

HUH aR Fe 3R IAG] B GBI

HUAT P 3R Q BT & (%) S fa (5
P | Q p Q

A 24 % 51 3 | 65% | 62%

B 18 % 5| 4 | 56% | 78%

C 15 % 2 3 | 72% | 66%

D 28 % 3| 4 | 75% | 60%

E 7% 4| 3 | 64% | 55%

F 8 % 3| 2 | 50% | 48%




What is the difference between the total number of products P and Q produced by company F?

1. 12400
2.12800
3. 13150
4. 14150

(1) 1
(2) 2
3) 3
(4) 4

T F gRT IdIGd P 3R Q STl & a S § A=< 1 87

1. 12400
2.12800
3.13150
4. 14150

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31705] Question Description : dwbv_pg_gp4_eng_2_q2
2[Option ID=31706]

3[Option ID=31707]
4[Option ID=31708]

Sl. No.3
QBID:4201003




The following table shows (i) the percentage distribution of total number of products P and Q produced by six
companies A-F, (ii) the ratio of P to Q, and (iii) the percentage sale of P and Q. Total number of products P and Q
produced by these companies is 8 lakhs. Based on the data in the table answer the questions.

Company - wise distribution and sale of products

Ratio Sale (%)
Company Distribution(%) of P and Q

P Q P Q
A 24% 5 3 65% 62%
B 18% 5 4 56% 78%
C 15% 2 3 72% 66%
D 28% 3 4 75% 60%
E 7% 4 3 64% 55%
F 8% 3 2 50% 43%

Frifea arfee & () A & F o Fufal gRT Iafed P 3R Q IS Bt o HEIT UG (5i) (A) P F Q FT U R
(iii) P 3R Q P ufarwra 4wt &1 g2ifan man §1 39 SUGl gRT IAEd P 3R Q IS Ft o7 T& 8 AE & AIferdT A
feU U 39 F R W ust F IW 2

HUH! aR e SR IdG! @ 9!

HUHT P 3R Q BT 8 (%) 3 fat 56
P| Q P Q

A 24 % 5| 3 | 65% | 62%

B 18 % 5| 4 | 56% | 78%

C 15 % 2| 3 | 2% | 66%

D 28 % 3| 4 | 75% | 60%

E 7% 4| 3 |64% | 55%

F 8 % 3| 2 | 50% | 48%

What is the average number of products P sold by all the six companies together?

1. 44740
2.44790
3.44840
4. 44380

(1) 1
(2) 2
3) 3
4) 4

Tt 8 Hufgl gRT a9 U p JAIGT di 21T T 7 52
1. 44740
2. 44790

3. 44840
4. 44880

1) 1




(2) 2
3) 3
4) 4
1[Option ID=31709]
2[Option ID=31710]

3[Option ID=31711]
4[Option ID=31712]

Question Description : dwbv_pg_gp4_eng_2_q3

Sl. No.4
QBID:4201004

Company - wise distribution and sale of products

The following table shows (i) the percentage distribution of total number of products P and Q produced by six
companies A-F, (ii) the ratio of P to Q, and (iii) the percentage sale of P and Q. Total number of products P and Q
produced by these companies is 8 lakhs. Based on the data in the table answer the questions.

Ratio Sale (%)
Company Distribution(%6) of P and Q

P Q P Q
A 24% 5 3 65% 62%
B 18% 5 4 56% 78%
C 15% 2 3 72% 66%
D 28% 3 - 75% 60%
E 7% 4 3 64% 55%
F 8% 3 2 50% 48%

Ry e 9 F onuR W ust F I I
HUH! aR se 3R IdGl @1 [
HU p 3R Q BT EeH (%) il fal 6
P | Q P Q
A 24 % 5| 3 | 65% | 62%
B 18 % 5| 4 | 56% | 78%
C 15 % 2| 3 | 2% | 66%
D 28 % 3| 4 | 75% | 60%
E 7% 4| 3 | 64% | 55%
F 8 % 3| 2 | 50% | 48%

1.7280
2.7240
3.7305
4.7110

(1) 1
(2) 2
(3) 3
(4) 4

What is the difference between the sale of number of products P and products Q by company E?

fmifea TifeeT () A T F B Fufal gRT IAMed P 3R Q ST T F @A U= (i) (A) P ¥ Q FT U 3R
(ii) P 3f¥ Q B ufawra ! 1 gIfan a1 €1 39 HUGI gRT IAMSd P 3 Q IS $1 T T&T 8 AE &1 AIfersd1 &




ST E gRT &9 70 3dTGl P 3R IdIG Q & 9B H [ 3ide g7

1.7280
2.7240
3. 7305
4. 7110

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31713] Question Description : dwbv_pg_gp4_eng_2_q4
2[Option ID=31714]

3[Option ID=31715]
4[Option ID=31716]

Sl. No.5
QBID:4201005

The following table shows (i) the percentage distribution of total number of products P and Q produced by six
companies A-F, (ii) the ratio of P to Q, and (iii) the percentage sale of P and Q. Total number of products P and Q
produced by these companies is 8 lakhs. Based on the data in the table answer the questions.

Company - wise distribution and sale of products

Ratio Sale (%)
Company Distribution(%) of P and Q

P Q P Q
A 24% 5 3 65% 62%
B 18% 5 4 56% 78%
C 15% 2 3 72% 66%
D 28% 3 - 75% 60%
E 7% 4 3 64% 55%
F 8% 3 2 50% 48%

fmifea TifeeT # () A T F B FUfE gRT IAME P 3R Q IR T F @A U= (i) (A) P ¥ Q FT 30 R
(i) P 3T q FI ufawa fat =1 gxtar man &1 39 HUGl g1 I P SR Q IUE! F o7 TEAT 8 AE &1 arfereT &
R T T ¥ YR W ud F I 2

HUH! aR e SR Id! @ fa@!

HUHT PR Q@ FeA (%) S fa! 6
Pl Q P Q

A 24 % 51 3 | 65% | 62%

B 18 % 5| 4 | 56% | 78%

C 15 % 2| 3 | 2% | 66%

D 28 % 3| 4 | 75% | 60%

E 7% 4| 3 | 64% | 55%

F 8 % 3| 2 | 50% | 48%




The number of products P sold by company A is % of the number of products P sold by company F

1. 40.625
2.120
3.296.5
4. 406.25

(1) 1
(2) 2
3) 3
(4) 4

HUT A GRI 9 U IAIG P B U831 SO F GR1 9d U IdIG) P &1 G341 &1 fdoa1 Ufa=id 87

1. 40.625
2.120
3.296.5
4. 406.25

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31717] Question Description : dwbv_pg_gp4_eng_2_q5
2[Option ID=31718]

3[Option ID=31719]
4[Option ID=31720]

Sl. No.6
QBID:4201006

Which one of the following strategies is not an element that defines true cooperative learning?

1. Positive interdependence and individual accountability
2. Competition

3. Group processing

4. Collaborative and social skills

1) 1
(2) 2
3) 3
(4) 4

gifed 7 O fog s ¥ arafd® ggart siftrs ufvvifta =8t glar &2
1. GPRIAD AT R e d Jaeca!
2. ufagef
3. 9fe® €U U TOIfd S
4. UganTdS 3R gifos $Ea

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31721] Question Description : dwbv_pg_gp4_eng_2_q6
2[Option ID=31722]

3[Option ID=31723]
4[Option ID=31724]

Sl. No.7
QBID:4201007




What higher - order knowledge can make the difference between how well and quickly one's students learn material?

1. Declarative

2. Rote

3. Meta cognition
4. Procedural

1)
(2)
(3)
(4)

P9 IR ®H & FH 4 ol fFendf gri sreag= Ol & Sifinm & TR 3R ifirs #1 1fg ¥ 3id 3907 81 9ad1 22

A W N R

1. J9F

2. HEY BT
3. W-H9H
4. BIUAUS

1)
(2)
(3)
(4)

A W N R

1[Option ID=31725] Question Description : dwbv_pg_gp4_eng_2_q7
2[Option ID=31726]
3[Option ID=31727]
4[Option ID=31728]

Sl. No.8
QBID:4201008

Which of the following is not a type of implicit long term memory?

1. Classical conditioning effects
2. Priming

3. Episodic Memory

4. Procedural Memory

(1)
(2)
(3)
(4)

Fgifd H ¥ &1 sicdad glulafie Wi &1 Uy -8l o7

1. FANDT HIDAT THG
2. UIgtET

3. STHHHS Hid

4. Uishare® Ffd

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=31729] Question Description : dwbv_pg_gp4_eng_2_q8
2[Option ID=31730]
3[Option ID=31731]
4[Option ID=31732]

Sl. No.9
QBID:4201009




Match List | with List 11

List | (Piaget's stages of cognitive
Development)

List lIl(Characteristics)

A. Sensorimotor

I. Can think logically about concrete problems

B. Pre-operational

II. Learns through reflexs senses and movements actions on the
environment

C. Concrete operational

Ill. Can think hypothetically and deductively

D. Formal operational

IV. Develops language and begins to use symbols to represent objetcs

T.A-ILB-L,C-IV,D-1I
2ZA-1LB-IV,C-1LD-1I
3A-NLB-IL,C-IV,D-I
44-1LB-I,C-1,D-1

1)
(2)
(3)
(4)

A W N R

Tl -1 B gt -1l | gHferd s -

Choose the correct answer from the options given below:

Tl -1 (foaret &

TS e e [T -1 [TEE)

)
A 93 iR @iy %Tﬁﬁ%ﬂﬁﬁdummwﬁmmaﬂ
i 1. ferad, 35, 3R 90 el & A G
B. Qd-Ufshurerd D 3,
B —— 1. IRGeT & U H AR AmEs e ¥
c fGgR L gad |

Bl

IV, HTHT fae e &l & 3R agafl &l Frefud
D. TUIHS HRhad® (B34 & o Yod! &1 UGN BT ARH B odl

T.A-Il,B-I,C-IV, D-1Il
2ZA-LB-IV.C-1l, D-1I
3A-NLB-IL,C-IV, D-1
4A-1ILBE-IV,C-1, D-1I

1)
(2)
(3)
(4)

A W N R

2[Option ID=31734]
3[Option ID=31735]
4[Option ID=31736]

i feu MU fedeul H 9 HEl ST gy

1[Option ID=31733] Question Description : dwbv_pg_gp4_eng_2_q9

Sl. No.10
QBID:4201010




Which of the following is a game-based platform used in educational institutions to create quizzes, conversations and
surveys?

1. Classcraft

2. Padlet

3. Google classroom
4. Kahoot

1)
(2)
(3)
(4)

A W N R

Fifed o O o1 69, araieny SR Tdam &1 T a9 &34 & ol e =i 4 e Sier Mid Temi o7

1. FTE BT
2. Ustle

3. Td GaTgEH
4. BIEE

1)
(2)
(3)
(4)

A W N R

1[Option ID=31737] Question Description : dwbv_pg_gp4_eng_2_q10
2[Option ID=31738]
3[Option ID=31739]
4[Option ID=31740]

Sl. No.11
QBID:4201011

When a researcher divides the entire population in sections, it is called as

1. Stratifed sampling

2. Cluster sampling

3. Convenience sampling
4. Systematic sampling

1)
(2)
(3)
(4)

T DIg JNYHdl O TGS @ WUs| H faHTd ©dl & df 98 Bealdi s -

1. THES Uidad
2. =5 Uid=g-

3. GiauTeR ufd=a=
4. PHEG UiGaa

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=31741] Question Description : dwbv_pg_gp4_eng_2_q11
2[Option ID=31742]
3[Option ID=31743]
4[Option ID=31744]




Sl. No.12
QBID:4201012

Mean of the means of sampling distributions of a finite population is

1. More than the mean of that population
2. Less than the mean of that population
3. Equal to the mean of that population
4. Equal to the median of that population

1) 1
(2) 2
3) 3
(4) 4

Tt uRffa SEen & ufagad §¢4 & 399! &1 A9 B &;

1. 3 SR & TEHE 9 S
2. 39 SEE & 9EHE d &4

3. 39 SHEET & HEAH & 99H
4. 39 TS B HIfEH & 991

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31745] Question Description : dwbv_pg_gp4_eng_2_q12
2[Option ID=31746]

3[Option ID=31747]
4[Option ID=31748]

Sl. No.13
QBID:4201013

The main types of validity encountered in research design and methodology are
A. Internal

B. External

C. Construct

D. Statistical conclusion

Choose the correct answer from the options given below:

1. A and C only
2. A, Cand D only
3.B,Cand D only
4.4, B, CandD

1) 1
(2) 2
3) 3
(4) 4




Y D AR Ugld H dudl & 89 UbR o:
A, 3MaR®
B. dT&l
c. T
D. Hifem® fsad
i< feu e fawedl 5 9 98l 3w 9 -
1. a0 A R C
2.%9d A CHRD

3. ®Hdd B, C 3R D
4.A B C3RD

1)
(2)
(3)
(4)

A W N R

1[Option ID=31749] Question Description : dwbv_pg_gp4_eng_2_q13
2[Option ID=31750]
3[Option ID=31751]
4[Option ID=31752]

Sl. No.14
QBID:4201014

Given below are two statements:

Statement I: Sampling where each member of the population can not be chesen more than once is called ‘sampling with
replacement’.

Statement Il: Sampling where each member of the population may be chosen more than once is called "sampling without
replacement’

In light of the above statements, choose the carrect answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

1)
(2)
(3)
(4)

EIEEAEAIE AT
T - | : WioaaH o e & TS 9ad @I UF aR 9§ i g1 91 o 9l o, “HioRIeH gaa Hfiad— Sgan ¢l
DY - 11 : Tl ToeH e & Udd 9es I Uh R U 386 41 S Gobd! &, “WiawiIeH Agd Uiaad= dgedl ¢
Iudad dyHl & aie | FafaRad fGeddl F 9 98 3o g -

1. @Y | 3R 11 §FT 9ET E

2. %Y | AR 11 BF A &

3. I TR e, g &Y 1 T B |

4. U T ¢, g B I T B

A W N R

1 1




(2) 2

3) 3

(4) 4

1[Option ID=31753] Question Description : dwbv_pg_gp4_eng_2_qi14
2[Option ID=31754]

3[Option ID=31755]
4[Option ID=31756]

Sl. No.15
QBID:4201015

Given below are two statements:

Statement I: In India, the consortium for Academic and Research Ethics (CARE) has been established by UGC to prepare and
maintain lists of quality research journals.

Statement II: Guidance document: Good Academic Research Practices (2020) has been published by CARE
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement Il is true

(1) 1
(2) 2
(3) 3
(4) 4

DY - | - MR H GG SEH SRR A [UIad] U 201Y GRS &1 gl dR 6 3R 39 HREU & AU SDhieiHd
Td MY ER HAIcad (5U) B =T 31 2l

BY - || : AFIGRH Gedidal : 30H S@IGHd MY 3ETY (2020) HAR gRI HHIEd fardr 1 &
Iudad dyHl & cie | FefaRad fGeddl § 9 98 3 g -

1. @Y AR 11 GF TR B

2. YA | R 11 GF Tad 8

3. HU 1 eI &, g DU 1 T B |
4. %Y | 710 &, g BuA 1 T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31757] Question Description : dwbv_pg_gp4_eng_2_q15
2[Option ID=31758]

3[Option ID=31759]
4[Option ID=31760]

Sl. No.16
QBID:4201016

People who help in the transmission of message, for example, reporters or copy-editors, are known in media circles as

1. Carriers

2. Transporters
3. Mediators

4. Relay people




1) 1
(2) 2
(3) 3
(4) 4

TOTeR 1 BiUT-TfseR oY oafad off GoR & IREY § 98® 8id &, 8¢ e (H11Sdn) & &3 H ®el oidl &:
1. oy
2. Tuey

3. Hifsued
4. Tt diga

1)
(2)
(3)
(4)

A W N R

1[Option ID=31761] Question Description : dwbv_pg_gp4_eng_2_ql16
2[Option ID=31762]
3[Option ID=31763]
4[Option ID=31764]

Sl. No.17
QBID:4201017

Which of the following mass media is considered less expensive and more effective than others for educational
communication of non-literates?

1. Television

2. Radio

3. News papers
4. Films

1)
(2)
(3)
(4)

Fifed & ¥ & O o-ddaR A1ed TR-Rféd & et Yuw & [ o9 Al & UaThd &F Qdral AR Hw THE!
T ST 87

A W N =

1)
(2)
(3)
(4)

A W N R

1[Option ID=31765] Question Description : dwbv_pg_gp4_eng_2_ql17
2[Option ID=31766]
3[Option ID=31767]
4[Option ID=31768]

Sl. No.18
QBID:4201018




What are the relevant strategies of effective communication in a classroom?
A. Understanding the cultural background of students

B. Clarity in speech

C. Focused listening on both sides - teacher and students

D. Inventing cultural labels

E. Disdain for collective efforts

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.D, Eand A only

1)
(2)
(3)
(4)

A W N R

He o mud guig of uifie sr-Hifaai s e

A. Taenfifal o1 aeias gyl ®f 99
B. Aol @ Tgwdr

c. e SR faendf g ual gRT Yau1 UR e[ &ivad a1 9

D. Fiepiad oad Pl a1y
E. Orfe® TR & Uid faEpR UG
e fgu T fadenl & ¥ 9 I I -
1. B A, B, C
2. %490 B, C, D

3. ®IAC, D, E
4. HAAD, E, A

1)
(2)
(3)
(4)

A W N =

1[Option ID=31769] Question Description : dwbv_pg_gp4_eng_2_q18
2[Option ID=31770]
3[Option ID=31771]
4[Option ID=31772]

Sl. No.19
QBID:4201019




Given below are two statements:

Statement |: Language and other symbolic means of mass communication are social products.
Statement |l: Communication media always make their audiences feel comfortable.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

1)
(2)
(3)
(4)

A W N R

EIERAR G AT

BUF - | : THEAR DI YT R 3T Fichad ATEOH TS 3ATG

DY - || : IR H1H U HATE®! & U6d gEg 3-Hd 6d o
I Byl & Hele F HafaRad el 5 9 98 Fae g -
1. Y | 3R 11 &FT T8
2. BYA 1 3R 11 GFI T g |

3. Y | el g, g ®YA 1 TTad § |
4. @Y1 71Ad &, fb=g HUF 1| Gl Bl

1)
(2)
(3)
(4)

A W N R

1[Option ID=31773] Question Description : dwbv_pg_gp4_eng_2_q19
2[Option ID=31774]
3[Option ID=31775]
4[Option ID=31776]

Sl. No.20
QBID:4201020

Given below are two statements:

Statement |: Persuasive communication does not blur the difference between truth and falsehood.

Statement II: Mass mediated communication never reflects truth.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement Il is true

1)
(2)
(3)
(4)

A W N R




DY - | : IATTIBRI TN & T 3R e & o9 &1 fade geyem el giaT o
TYA - || : THfE® odied 9uwy d 9 & 2t ufatéa @faffea) 72 s g1
Sudd Tyl & e § FufiRad el § 3 Tel S| A -

1. % 1 3R 1| GH 91 B

2. @Y1 SR 1 SF A B

3. P | Gl &, g &Y 11 T § |

4. @Y | T0d &, fod YT 11 Tl Bl

(1)
(2)
(3)
(4)

A W N R

1[Option ID=31777] Question Description : dwbv_pg_gp4_eng_2_q20
2[Option ID=31778]
3[Option ID=31779]
4[Option ID=31780]

Sl. No.21
QBID:4201021

Find the next term in the series given below:-
5,813, 21, 34, ...

1.49
2.51
3.68
4.55

(1) 1
2) 2
3) 3
4) 4
EIEEARIEE (ERIE IS N R A R
5,813, 21, 34, -----

1. 49

2. 51

3.68
4.55

1)
(2)
(3)
(4)

A W N R

1[Option ID=31781] Question Description : dwbv_pg_gp4_eng_2_q21
2[Option ID=31782]
3[Option ID=31783]
4[Option ID=31784]

Sl. No.22
QBID:4201022




The average age of a family of six members is 30 years. The youngest members of the family are twins with age 10 years.
Find the average age of the family just before the birth of the twins.

1. 28 years
2. 25 years
3. 30 years
4. 32 years

1)
(2)
(3)
(4)

A W N R

o aiaR & 3¢ Uew! @ 30d 31 30 79 51 39 URAR & Jad BI<¢ 10 T80 Y& 9S4l & ol godl Yo & o 4 3idb
Ud URaR & &l i $iad 31 Fd L

1.28 Ty
2.2534
3.30 T
4,32 T4

1)
(2)
(3)
(4)

A W N R

1[Option ID=31785] Question Description : dwbv_pg_gp4_eng_2_q22
2[Option ID=31786]
3[Option ID=31787]
4[Option ID=31788]

Sl. No.23
QBID:4201023

A person X is twice as good a workman as a person Y. By joining together, they complete a job in 18 days. Find the number
of days the person X as well as Y can complete the job, respectively, if each of them works separately.

1)
(2)
(3)
(4)

A W N R

Iy didd X HHOR & U H oida v ¥ GFMAT SiUd 304 g1 aHi [Hed: fhdl o1 @i 18 167 # R d g1 X 3R v gl
H: 34U BT B JYE TU G -4 fbad &7 § gu ar




(4) 4

1[Option ID=31789] Question Description : dwbv_pg_gp4_eng_2_q23
2[Option ID=31790]
3[Option ID=31791]
4[Option ID=31792]

Sl. No.24
QBID:4201024

A man earns Rs. 12,500 as simple interest @ 5% per annum in 5 years. Find the principal amount deposited by the man in
the bank.

1. Rs. 50,000
2. Rs. 45,000
3. Rs. 40,000
4. Rs. 35,000

1) 1
(2) 2
3) 3
(4) 4

D3 ATGH 5 Y H 5% Wiaay GreRuT s47el B &X 9 12,500 ¥ s41d foid Bl € dl 39 olidd Bl ddb H Jeed & &4 H
o T@H 9 87

1.50,000 ¥UY
2. 45,000 394
3. 40,000 ¥U4
4. 35,000 94

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31793] Question Description : dwbv_pg_gp4_eng_2_q24
2[Option ID=31794]

3[Option ID=31795]
4[Option ID=31796]

Sl. No.25
QBID:4201025

A girl is standing outside her house facing north direction. Turing to her right she walks 50 metres. Then she turns to her left
and walks 60 metres. She again turns to her right and walks 50 metres. Again she turns to her right and walks 80 metres.
Finally she turns to her right again and walks 80 metres. In which direction is the girl now from the starting point.

1. North - West
2. South - East
3. North - East
4. South - West

(1)1
(2) 2
(3) 3
(4) 4




D3 FIDT 30 TR & ale IR G- & HR T P Wal ¢ | 98 AU &l §S®R 50 HieR gadl g1 39 alg dg U g
3B 60 HIeX gadi | G7: 98 U1 grdl fG=n § gsax 50 Hiex gadl g1 i a8 30 aif g 80 Hiex gad! g1 =d:
UHaR R 98 30 Gl G5®x 80 Hiex 9eidl 8| 3fd a8 alfaa U+ RS e 4 oy fGan d &2

1. STR-UEH
2. cféu-gd
3. 3WR-ud

4. gi&or-ufam

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31797] Question Description : dwbv_pg_gp4_eng_2_q25
2[Option ID=31798]

3[Option ID=31799]
4[Option ID=31800]

Sl. No.26
QBID:4201026

Which informal fallacy is committed in the following argument - "Efforts have been going on for centuries to provide
conclusive evidence for the claims of astrology but have not met any access. Therefore we must conclude that astrology is
nothing but nonsence?

1. False cause

2. Hasty generalisation

3. Slippery slope

4. Argumentum ad Ignoration (Appeal to Ignorance)

(1) 1
(2) 2
3) 3
(4) 4

Frofafea ofda & S sFeRe ab-am ¢ - “Taifsal 9 Saifoy & a&! &1 Fuifas 9167 e &3 & maE Bu R
tifoe 50H ®is gmadl Hal (Hal | SUY 81 Fny Moo aNiet far saliay HETd faul & Ham s W Tal gl” ?

1. o sRo
2. HfdgR! g6
3. Thaegad oo (FRudl i)

4. WSS iad (N1 BT 3H1E)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31801] Question Description : dwbv_pg_gp4_eng_2_q26
2[Option ID=31802]

3[Option ID=31803]
4[Option ID=31804]

Sl. No.27
QBID:4201027




If the proposition "Some fishes are not egg-laying animals” is given as true, then which of the following propositions could
be immediately inferred to be false?

1. All fishes are egg-laying animals.
2. Some fishes are egg-laying animals.
3. No fishes are egg-laying animals.
4. Some egg-laying animals are fishes.

1)
(2)
(3)
(4)

A W N =

I 39 e - T2 Hofaal eiani® U el & -+ B 9d & ©U § four man § df FafiE § 3 fow vfasfa & smase
@1 dlbieih ¥4 U SFHA a1 o Udbdl 82

1. @ff goferat sosiesie Uy Bl
2. TS AT AUSIuid T & |
3. Big i AT SUSieia U Tel B
4. DS HUS[Eoid U Al g |

1)
(2)
(3)
(4)

A W N R

1[Option ID=31805] Question Description : dwbv_pg_gp4_eng_2_q27
2[Option ID=31806]
3[Option ID=31807]
4[Option ID=31808]

Sl. No.28
QBID:4201028

Which of the following statement is logically equivalent to the following statement- "Some dogs are not aggressive
animals"?

1. Some aggressive animals are not dogs.

2. Some non-aggressive animals are not non-dogs.
3. Some dogs are aggressive animals.

4. Some non-dogs are aggressive animals.

1)
(2)
(3)
(4)

A W N R

Frafafad & € S oy difthd 9 3 35 YT - 5B 1 SHHS U 6l & & JAq9 8 7

1. TS AHHES U T Tel g

2. BB IR-3MHMS U TR-F< T8l &
3. TS O B T 5

4. 5% R-Fd AFHS UL 2|

1)
(2)
(3)
(4)

A W N R




1[Option ID=31809]
2[Option ID=31810]
3[Option ID=31811]
4[Option ID=31812]

Question Description : dwbv_pg_gp4_eng_2_q28

Sl. No.29
QBID:4201029

Which of the following statements are contradictory of each other?

A. All human beings are mortal.

B. Some human beings are not mortal.

C. Some human beings are mortal.

D. No human beings are mortal.

Choose the correct answer from the options given below:

1.B and D only
2.Band C only
3. A and D only
4. A and B only

(1) 1
() 2
3) 3
(4) 4

Fafiied & € 19 $YT UH-g8x & ol 87

A T AT TR

B. 8 A TR T 5

C. P3 A TR 5

D. ®T% W AT TR TET &
i feu e fasdheal 5 U U8l IR 94 -

1.®Had B 3R D
2. %38 AR C
3. Haa A AR D
4. %ad A AR B

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31813]
2[Option ID=31814]

3[Option ID=31815]
4[Option ID=31816]

Question Description : dwbv_pg_gp4_eng_2_q29

Sl. No.30
QBID:4201030




“When | left my office few minutes ago there was no coffee on my table; now when I return there is a cup of coffee lying on
my table. Therefore | can conclude that somebody must have brought a cup of coffee for me during my absence at the
office.” Which of the following instruments of knowledge is used in the above example?

1. Perception (Pratyaksa)

2. Postulation (Arthapatti)

3. Similarity (Upamana)

4. Non-existence (Anuplabdhi)

1)
(2)
(3)
(4)

A W N R

" 5Id $o [FHe Ugd Doy d -1 Ul, 96 51 HE R Dly D161 gl 4, cfce=1 7 oid oilel g, df 38 349 W U &U BIBI Ugl
g% o | 3ufoe, & e FidTd 9@l g & @i oafda sfad ¥ 14 oufufd & SR T o/ U@ &u S1e! amn g i
IWad Iarexu § Huiciiad # 9 99 o fdg Qred &1 SudnT a1 7/ 82

1. Ucd&El
2. Yo
3. UM

4. ucfel

1)
(2)
(3)
(4)

A W N R

1[Option ID=31817] Question Description : dwbv_pg_gp4_eng_2_q30
2[Option ID=31818]
3[Option ID=31819]
4[Option ID=31820]

Sl. No.31
QBID:4201031

Which of the following applications (A-C) are built on top of open-source digital platforms?
A. Moodle

B. Aarogya setu

C. Skype

Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.B and C only
4.4 BandC

(1)
(2)
(3)
(4)

A W N R




FufiRad # 9 ®H-U HGHIE (A-C) Had-9id (u=-91d) f5ioed wewm! w [t gd 82

A TSd
B. R I

C. T

o feu U fadeal H U Ugl IR 94 -
1. 5dd A 3R B
2. FAAA AR C

3. BIAB AR C
4.A B IR C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31821] Question Description : dwbv_pg_gp4_eng_2_q31
2[Option ID=31822]

3[Option ID=31823]
4[Option ID=31824]

Sl. No.32
QBID:4201032

Match List | with List 11

List | (WWW Evolution) [List Il (Description)

A Web 1.0 |. Democratization of the capacity of action and knowledge
B. Web 2.0 II. Emotional web

C. Web 3.0 lll. Democratization of content production

D. Web 5.0 IV. Democratization of infromation access

Choose the correct answer from the options given below:

TA-IW,B-IILC-1,D-1
2ZA-NLB-1,C-1V,D-1
3A-LB-NILC-IV,D-1
4A-IV,B-ILC-1,D-1

(1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

G -1 (www Sfg@rE) (G -1l @)

A. 99 1.0 |. 5541 Ud 91 @1 &HdT &1 dlhd IR0l
B.d9 2.0 II. HTGUa a9

C.dd3.0 1. fawg-a%g v (IdeA) @1 diddiEdu
D.d9 5.0 V. YT HHTH BT Al =B

Hid feu e fadeal # 9§ 98l 3T gHU :

TA-IV,B-1I,C-1, D-1
2ZA-NLB-1,C-1V, D-1
A-LEB-NILC-IV, D-1I
4A-IV,B-I,C-1, D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31825] Question Description : dwbv_pg_gp4_eng_2_q32
2[Option ID=31826]

3[Option ID=31827]
4[Option ID=31828]

Sl. No.33
QBID:4201033

Given below are two statements:

Statement I: The National Mission on Education Through Information and Cemmunication Technology (NMEICT) has
been envisaged as a centrally sponsored scheme.

Statement Il: The NMEICT has produced wondrous benefits for young minds studying in primary, secondary and higher
education institutions.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

1) 1
(2) 2
3) 3
(4) 4




BUY - | G Ud GIR U] & ArerE 9 gty et e (@ v § o 91 E) B URee S SR gR1 Ui
Ao & 0 F 31 T

DY - 11 : T UH S 3 A & 7wl Arafie 3R 3= e SuET # srergeRd Aiferal Ud Tagad! 2 snsdeHs ay
T 5§
Iudad dyEl & aie | FgfaRad fGeddl F 9 98 3o g -

1. BYT 1 AR 1 EHTFE '

2. YA | AR 11 SF AT &

3.HYT 1 el g, feg Py 1 TTad B |
4. T T, g I I T R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31829] Question Description : dwbv_pg_gp4_eng_2_q33
2[Option ID=31830]

3[Option ID=31831]
4[Option ID=31832]

Sl. No.34
QBID:4201034

Digital signature service that has been launched on Aadhar platform is called

1. DigiSignDesk
2. eSignDesk

3. OnlineSignDesk
4. GoogleSignin

1)
(2)
(3)
(4)

fafored geaRr a1 o SR O (Wieh) T URY a1 141 §, Seard o

IR EEIRERELH

2. 3ETew

3. HAEIEE IS
4. TS

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=31833] Question Description : dwbv_pg_gp4_eng_2_q34
2[Option ID=31834]
3[Option ID=31835]
4[Option ID=31836]

Sl. No.35
QBID:4201035




The IT (Amendment) Act, 2008 aimed at strengthening the law to combat cyber crime, came into force in India on

1. 27 - October - 2009
2. 27 - October - 2008
3. 17 - October - 2009
4,17 - October - 2008

(1) 1
) 2
3) 3
(4) 4

-1 U8 WEie] (GEieF) SHfafad, 2008, @1 359 SRR SRy § Fued g s 1 Bfigt @) @ 9=ed s
YT, HRd H &d Jaa | 3

1. 27 3faZaR 2009
2. 27 SaEER 2008
3.17 3fZER 2009
4,17 3dCaR 2008

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31837] Question Description : dwbv_pg_gp4_eng_2_q35
2[Option ID=31838]

3[Option ID=31839]
4[Option ID=31840]

Sl. No.36
QBID:4201036

Given below are two statements:

Statement |: One of the ways to control greenhouse gas emissions is by encouraging energy efficiency throughout society
in our country.

Statement II: Improving energy efficiency has significant environmental benefits.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

(1) 1
(2) 2
(3) 3
(4) 4




BERCIE IR
DY - |- U U H G HAN H Hull Gl I gegrdl o1 Ui 5139 19 Sl B HafHd & ol td i 5 |
T - 11 : Sl &l H GUR [T 9H & Howaey ugiaxviy =ff 9§ 9gd e oM g gl
ST YAl & Ha® B FgfaRad [Gdedl o 9 98 SW 4 -
1.9 1 3R 1| GH 9E B
2. @Y | R 11 Gl AT B
3. T I TE R, g P 1T B |
4. T TTAA T, g YA 1 T8 B

1)
(2)
(3)
(4)

A W N R

1[Option ID=31841] Question Description : dwbv_pg_gp4_eng_2_q36
2[Option ID=31842]
3[Option ID=31843]
4[Option ID=31844]

Sl. No.37
QBID:4201037

Given below are two statements:

Statement |: Toxicodynamics refers to the distribution of chemicals in the body.

Statement |I: Toxicokinetics refers to the process by which chemicals produce effects in the body.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

1)
(2)
(3)
(4)

A W N R

FYF - | ; AHATAH! GFH (D ISEAT ) BT aradd IRR H W0 & AR 4 81
T - 11 ; AT fagH ElliPieE-ica) &1 dredd T9E-! gR1 IRR 8 THE 3dd &1 & UHH 4 8l
Iudad dyHl & cie | FefaRad fGeddl § 9 98 3 g -

1. @Y AR 11 GF TR B

2. YT AR I GHITAd &

3. %Y 1 el g, fg dYF 1 TTad § |

4. A T, g FY I TR B

1)
(2)
(3)
(4)

A W N =

1[Option ID=31845] Question Description : dwbv_pg_gp4_eng_2_q37
2[Option ID=31846]




3[Option ID=31847]
4[Option ID=31848]

Sl. No.38
QBID:4201038

Light water nuclear reactors use the following moderator:

1. Ordinary water H;O
2. Graphite

3. Heavy water D;0
4. Pressurized water

1)
(2)
(3)
(4)

e T &5 AT Wl e & 0 7 Feee 7 9 9 T S 8

1. GIYRYT S (H,0)

2. UmTge

3. YRl 91 (D,0)
4, TTEgE oId

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=31849] Question Description : dwbv_pg_gp4_eng_2_q38
2[Option ID=31850]
3[Option ID=31851]
4[Option ID=31852]

Sl. No.39
QBID:4201039

Which of the following are true about the hard water?

A. Hardness in water can occur in both surface and underground waters.
B. Hardness increases the cleaning efficiency of water.

C. It is caused by carbonates of magnesium and calcium.

D. Hard water is considered as safe for human consumption.

E. Hard water causes scaling in water distribution systems.

Choose the correct answer from the options given below:

1.A,C, DandE only
2. A, Cand E only

3.B,C, D and E only
4. A, B, D and E only

1)
(2)
(3)
(4)

A W N R




HoR §d & R H [gifed § Y -4 By Gl 2
A. 96 @1 BBRaT U8 3R YfirTd 9id a1 & 8 gad! B
B. BA R U ST 1 W&ITeH &7 9gdl &
C. HHiTE SR Sieaad & ®eEi-c ¥ U8 PIRkd sidi ¢
D. B3R oicl HIFd & IR & [l GRI&d HHT SIdl g |
£ TOR 9el 9§ o fIeRvl Jureht & 2o & W 31
i< f&T 70 fadedi # 9 981 ST I -

1. ®ad A, C D 3R E

2. Bat A, C 3R E

3. % B, C, D ARE
4, BATA, B, D AR E

1)
(2)
(3)
(4)

A W N R

1[Option ID=31853] Question Description : dwbv_pg_gp4_eng_2_q39
2[Option ID=31854]
3[Option ID=31855]
4[Option ID=31856]

Sl. No.40
QBID:4201040

The Sustainable Development Goals (SDGs) are intended to be achieved by the year

1. 2025
2.2027
3.2029
4.2030

1)
(2)
(3)
(4)

A W N R

gyRuiig famrg deal oy 2 o) &1 Fgifed § 4 fed ay a® uid &g SF1 82

1. 2025
2.2027
3. 2029
4. 2030

1)
(2)
(3)
(4)

A W N R

1[Option ID=31857] Question Description : dwbv_pg_gp4_eng_2_q40
2[Option ID=31858]
3[Option ID=31859]
4[Option ID=31860]

Sl. No.41
QBID:4201041




In the twenty first century, higher Education development in India should focus on
A. Access and Equity

B. Single domain government aided universities

C. Market driven fee structure and quality

D. Accountability and quality

Choose the correct answer from the options given below:

1. A and D only
2.B and C only
3.B and D only
4.Cand D only

1) 1
(2) 2
(3) 3
(4) 4

21d1 98l H HRd H 3= e fde™ & dsidg gH 9z
A, ATt Td g
B. Tohd SHfU&H aTd W] Yeradl U fayfaemag

C. SR U Yeb 91 Ud Iura]

D. SdlEGe! Ud [Urad]

o fEU U fadheal 9 98 S g -
1.®%dd A AR D
2. ®ad B 3R C

3. WA B 3R D
4.%Had CAND

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31861] Question Description : dwbv_pg_gp4_eng_2_q41
2[Option ID=31862]

3[Option ID=31863]
4[Option ID=31864]

Sl. No.42
QBID:4201042




Match List | with List 11

List | (Verticles of Higher Education Commission of
India(HECI)) List Il (Name of the Verticle)

A. First verticle of HECI I. General Education Council(GEC)

, Il. National Higher Education Regulatery Council
B. Second verticle of HECI
(NHERC)

C. Third verticle of HECI Ill. National Accreditation council (NAC)

D. Fourth verticle of HECI IV. Higher Education Grants council (HEGC)

Choose the correct answer from the options given below:

TA-ILB-IILC-1IV,D-1
2ZA-NLB-1,C-1IV,.D-1
A-ILB-IV,C-1Il,D-I
4 A-NLB-IV,C-1I,D-1

1)
(2)
(3)
(4)

A W N R

Tl -1 &1 gl -1l ¥ GHfed ST :

g;ﬂ%wgaiaﬁ{m&na@ﬂmaiﬁ?ﬁ_”m%m
?.ﬁmﬁmmﬁuuﬂm |, gra e ufwe S S )
B. U9 3 I 313 & gy u=mar 1. ¥ = e s aReg
@) (@@ TFE ¥R )
f'%ﬂgﬁl&ﬂgﬁmm 1. TFT TeAdTa URug (1)
D.TT S 1 oS &1 it y=mmar Iv. 3= T8 SHEH uRug g 5
@) off T

< fgu e Pt & 9 9g IR g

T.A-I,B-1,C-1V, D-1
2ZA-NLB-1,C-1V, D-1
A-ILB-IV,C-1l, D-1
A A-NLEB-IV,C-Il, D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=31865] Question Description : dwbv_pg_gp4_eng_2_q42
2[Option ID=31866]
3[Option ID=31867]
4[Option ID=31868]

Sl. No.43
QBID:4201043




Given below are two statements:

Statement |: Conventional education uses traditional teaching-learning methods in which teachers and learners are involved
by interacting in a face-to-face manner in the classroom.

Statement II: In active learning the timely feedback from either the instructor or fellow students is not critical to the learning
process.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement Il is true

(1) 1
(2) 2
(3) 3
(4) 4

IR EIC AT =S

BY - | - URURE R1e01 Ut WORAT fRieor i ufaftat & ugn & § foad RIe@ 3R firmed sarse § -
A a1d T § IRER Haig &3 & J1ed I 218 8id ol

DY - 11 : FpT T H TS 3dT Feam! T U GHues Hagf S ufpar & Rig Aeau! et St B
Iudad Syl & 3Tl H FaftRad fadedl # 9 98l S| -

1. BYA | 3R 11 §H1 98l B

2. @Y | R 11 Gl AT B

3. BRI 8, g S I T & |

4. T TTAA T, g YA 1 T8 B

1)
(2)
(3)
(4)

A W N R

1[Option ID=31869] Question Description : dwbv_pg_gp4_eng_2_q43
2[Option ID=31870]
3[Option ID=31871]
4[Option ID=31872]

Sl. No.44
QBID:4201044




Which of the following ancient texts relate to Law?

A. Grihya Sutra

B. Nyaya Sutra

C. Dharma Sutra

D. Sarhkhya pravacana Sutra

Choose the correct answer from the options given below:

1. A, Cand D only
2. A and Conly
3.4 B, Cand D
4.B and D only

1) 1
(2) 2
(3) 3
(4) 4

Fafafad oF-4 udE gy fafd € Jefia 82
A TR
B. <IT9
C. 9 I

D. Tiel Uaa T

o fGU U fadheal & 9 9 SUgad SR & 994 i -

1.HAA A, C 3R D
2. ®Bad A MR C
3.A, B, C3HRD

4.%ad B 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31873] Question Description : dwbv_pg_gp4_eng_2_q44
2[Option ID=31874]

3[Option ID=31875]
4[Option ID=31876]

Sl. No.45
QBID:4201045




The Act of Incorporation passed by lord Canning in February, 1857, provided for the establishment of which of the following
universities?

A. Calcutta
B. Delhi

C. Bombay
D. Madras

Choose the correct answer from the options given below:

1.B, Cand D only
2. A and D only

3.A Cand D only
4. A Band D only

(1)
(2)
(3)
(4)

A 1857 H @18 ST g1 UTid a7 T 718 THEEH (3-@RUReH) fafam ¥ Fafafag e fGyfeenaat &t s of 1t o

A W N R

A. eIl

B. feeeit

C. did

D. HalH

=< feu 7Tu fadeal 5 9 98l IR 9 -
1. ®ac B, C AR D
2.Bad A 3R D

3. AT A, C 3R D
4.%HaAA BIARD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31877] Question Description : dwbv_pg_gp4_eng_2_q45
2[Option ID=31878]

3[Option ID=31879]
4[Option ID=31880]

Sl. No.46
QBID:4201046




Read the below passage and answer the following questions

The momentum of change across India is evidenced in the enthusiasm among India's youth. The growth of civil
society organisations, aspirations of youth legislators, and participation of activists are grounded in the market. The
momentum of change across India thus is presented as the politics of hope that is brought about by the power of the
market. We must also note the articulation of the sense of possibility of hope that has been made possible by the market
such that everyday, Indians can leave their village in the hope for something better waiting for them in their future. The
narrative of continual progress and belief in the future thus are intertwined with the individual freedoms that have been
brought about by the market. Belief in the future made possible through self-help and participation in the market is
synonymous with new opportunities. This sense of possibilities then is juxtaposed in the backdrop of welfare services and
public support, which are portrayed as being out of sync with the new imagination of a new empowered India. The story of
an India is that of liberated aspirations made possible by economic reforms. This is further improved by the state based
politics of public welfare and public support. The promise of India in its youth is marked by liberalisation and market reforms.
The miracle of market holds key to the future of India.

T F1 ufeu ofiT ust F I difere

Tl yRa # uRkadd &1 W' YRAG gara | I & ©U J uRdigd gal ol fafde aemdt @nsHl o faem, gar f&f-
fafara @1 bl R dEadis @ YReR & 9a § a6R g1 39 Y6R Q¥ HRd H URad- & 9d7 &I 1= &1 Aa-11d &
Y § U 41 91 & SR 98 B deR &1 Wied &l 81 85 98 HI e &A1 J1f8Y @ SR &1 YHIEAl & |y @ [y
Hfieaiad 1 99k GRT 59 UHR TYT 141 741 & [ YRAHE 30 s8R HaW &1 U | 301 7id SIs®2 397 o 9od &
=4 YR Idd WIS &1 AR I Hiasy § e oafdd &1 39 Taaael 4 deg e & ol seR gRT UeH fpu mu 81 ©-
qe/Edl 3R §eR # YAfieR] & Aregs ¥ 94d gofl Hidsy # fayrg v SRl &1 gaFEr g1 Suiame & 39 dY ®f o9
DGR JaT AR oH FearT & YBYH H TRYT og1 91ar ¢ d 98 U I=1dd YR S 5 ded-l & Ty SId Ul &rdl ¢
YIRd B MY T8 & o il YuRI & R qad Sbiand Hyd gl urdi| e bedi 3R o9 §924H S J0d-H1HIRd JeH-Hid &
BRI 3EH AR UF GUR g3 8| R @l T 1 TR IGRIBY AR el YR RT UREd gl & | a9R § gH ard
@R | g URd & Higw [iEa g

The change witnessed in India now is due to

1. Social grounding

2. Political interference

3. The market momentum
4. Youth migration

1) 1
(2) 2
3) 3
(4) 4

g YT H T3gHH URadd HT PRI 2 -
1. A HITEH
2. TeHiEaE gaay

3. SR a7
4. gaT WaeH

(1) 1

) 2
3) 3
(4) 4

1[Option ID=31881] Question Description : dwbv_pg_gp4_eng_2_q46



2[Option ID=31882]
3[Option ID=31883]
4[Option ID=31884]

Sl. No.47
QBID:4201047

Read the below passage and answer the following questions

The momentum of change across India is evidenced in the enthusiasm among India's youth. The growth of civil
society organisations, aspirations of youth legislators, and participation of activists are grounded in the market. The
momentum of change across India thus is presented as the politics of hope that is brought about by the power of the
market. We must also note the articulation of the sense of possibility of hope that has been made possible by the market
such that everyday, Indians can leave their village in the hope for something better waiting for them in their future. The
narrative of continual progress and belief in the future thus are intertwined with the individual freedoms that have been
brought about by the market. Belief in the future made possible through self-help and participation in the market is
synonymous with new opportunities. This sense of possibilities then is juxtaposed in the backdrop of welfare services and
public support, which are portrayed as being out of sync with the new imagination of a new empowered India. The story of
an India is that of liberated aspirations made possible by economic reforms. This is further improved by the state based
politics of public welfare and public support. The promise of India in its youth is marked by liberalisation and market reforms.
The miracle of market holds key to the future of India.

T 1 ufey i usl ¥ I difere

ol yRa # ulkadd &1 W' YRAG gara | Idg & ©U J uRdigd gal o) fafde aramadt @sHl o faem, gar f&f-
Faiarel 31 eiant 3R sEedisl Bt HrieRl & 9a 3 §6R 81 39 SR [ HRd 3 Uad- & 947 &1 =0 & Aa-iid &
w0 H U &dl Wil & AR 98 B aeR @1 Wi ddl 1 85 98 i Ale B 91fet & o= & $HEH & a1y @ WP
Hfieaa B 99X GRT 59 UPR GYT 141 741 & [ YRAHE 30 s8R HaW &1 U | 301 7id SIs®R 397 o 9od &
39 UHR Tdd WITd &1 A 3R HiIsy & ey aafdd $1 3+ Waaasi ¥ siddsg gid ¢ ol §eiR gRT UeH [t 7T 21 w@-
TeMdl 3R SR # YAGR] & A1ed ¥ 94d gl Hidy # {3y U SRl & gaErt g1 gyiane & 39 91y ®f 99
DAUGR] YaT AR o Fedi & JBYH H GRYq oa1 91ar ¢ df 98 U 9%1ad YR $I -5 ded-l & S SEI1d Ul &rdl 8|
YIRd $I MY 8 & & e YuRT & R qad ATbiand Hyd gl Urdi| e bedil 3R S 9 S J0-HHRd T &
BRI 399 AR AT FUR 51 8| HRI a1 & B TR SRS AR Fee FUR RT URAE il 6| §9R | 54 ardl
@R | g URd & Higw FiEa g

The change taking place in India is described as

1. Activism

2. Articulation

3. Politics of marketing
4. Politics of hope

(1) 1
(2) 2
(3) 3
(4) 4

YRd | gHaI URad- &1 e Fgifeed 5 9§ g T 1 @1 off 9@l 87

1. GichgIHDl
2. Wy Ao
3. fauuH 31 AeH
4. 3T B A1

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=31885] Question Description : dwbv_pg_gp4_eng_2_q47
2[Option ID=31886]
3[Option ID=31887]
4[Option ID=31888]

Sl. No.48
QBID:4201048

Read the below passage and answer the following questions

The momentum of change across India is evidenced in the enthusiasm among India's youth. The growth of civil
society organisations, aspirations of youth legislators, and participation of activists are grounded in the market. The
momentum of change across India thus is presented as the politics of hope that is brought about by the power of the
market. We must also note the articulation of the sense of possibility of hope that has been made possible by the market
such that everyday, Indians can leave their village in the hope for something better waiting for them in their future. The
narrative of continual progress and belief in the future thus are intertwined with the individual freedoms that have been
brought about by the market. Belief in the future made possible through self-help and participation in the market is
synonymous with new opportunities. This sense of possibilities then is juxtaposed in the backdrop of welfare services and
public support, which are portrayed as being out of sync with the new imagination of a new empowered India. The story of
an India is that of liberated aspirations made possible by economic reforms. This is further improved by the state based
politics of public welfare and public support. The promise of India in its youth is marked by liberalisation and market reforms.
The miracle of market holds key to the future of India.

T 1 uf3T oy ust & Iww diftre

Il yRd # uRadd &1 Yo YRAG gard | I & $U J uRdigd gal ¢l fafde amdt dneHl o fae™, gar f&f-
Fafara @i Sdian R dredis & YRR & 9a H a6k g1 39 Y6R U HRd H URad- & Sd7 &I 120 &1 Ae-1d &
Y § U a1 91 & SR 98 B d9R &1 Wied &dl ol 85 98 HI e &A1 difey & 1= &1 YHIEHT & sy @ [y
Hfieaaa B 99k GRT 59 UHR SYT 11 741 & [ YRAE 30 g8d? HaW &1 U & 301 7id SIs®: 3797 o 9&d &
=4 YR Idd W &1 AR 3T Hiasy § ey i #1 39 Taaaell 4 a9 B & ol seR gRT UeH fpu mu 81 ©-
TEal R 99R § YAfeRl & f19 ¥ Y4q g Hiaw o fay U aRi &1 gaEmdt g1 9ya-st & 39 91 &f 99
DGR JaT R SH FearT & gBYH H TRYT og1 S1ar ¢ df 98 U I=1ad YR B 5 ded-l & Y SId Ul &irdl ¢
YR B Y T & b S1idie GURI & gRI Had A& Y4 8l URN| did Hedvl AR 91 G544 S Uod- ARG Ta-id &
BRI 3EH AR UE GUR g3 & | R a1 37 &1 TR IGRIBU AR SoE YR R1 UREd gl & | 99 § gH ard
DR H g HRd @ Higw [iEa g

The youth's belief in the future is propelled by

1. Disrupted progress

2. Self-help

3. Restricted freedom

4. Unsynchronised imagination

1) 1
(2) 2
3) 3
(4) 4




yfess # garar @t s Faifod 3§ foad uonfed gidi 82

1. TG W

2. W-FEEd!

3. UiaEied wdaa
4. OASGIS Dl

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31889] Question Description : dwbv_pg_gp4_eng_2_q48
2[Option ID=31890]

3[Option ID=31891]
4[Option ID=31892]

Sl. No.49
QBID:4201049

Read the below passage and answer the following questions

The momentum of change across India is evidenced in the enthusiasm among India's youth. The growth of civil
society organisations, aspirations of youth legislators, and participation of activists are grounded in the market. The
momentum of change across India thus is presented as the politics of hope that is brought about by the power of the
market. We must also note the articulation of the sense of possibility of hope that has been made possible by the market
such that everyday, Indians can leave their village in the hope for something better waiting for them in their future. The
narrative of continual progress and belief in the future thus are intertwined with the individual freedoms that have been
brought about by the market. Belief in the future made possible through self-help and participation in the market is
synonymous with new opportunities. This sense of possibilities then is juxtaposed in the backdrop of welfare services and
public support, which are portrayed as being out of sync with the new imagination of a new empowered India. The story of
an India is that of liberated aspirations made possible by economic reforms. This is further improved by the state based
politics of public welfare and public support. The promise of India in its youth is marked by liberalisation and market reforms.
The miracle of market holds key to the future of India.

TR F1 ufey ot ust F I difere

Il yRa # ulkadd &1 W' YRAG gard | Idg & ©U J uRdigd gal ol fafde aramadt @sHl o faem™, gar f&f-
Faidrel @1 diant 3R sEaqisl B YRG! & 9a 3 §eR 81 39 PR QX HRd 3 Udd- & 947 @I =0 & Ja-id &
0 § T 51 91 & SR 98 B 9WR @I Wiad Bl 5l 55 98 H e B Jifey & SR ST $uE & aiy @t |y
Hfieaa B 99 GRT 59 UHR TYT 11 741 & [ YR 30 s8R HaW &1 U | 301 71id SIs®: 307 of 9od &
34 UHR Tdd WITd &1 A 3R HTT & 3T Afed BT 37 Waaasi ¥ 3das gid ¢ o seR gRT UegH {6y T &1 -
TeMdl 3R §eR # YAfieR] & Aregs ¥ 94d gofl Hidsy & fayrg AU SiawRi & gaErt g1 Syiame & 39 d1Y 3 o9
DGR JaT AR oH Fear & g8y H TRYq og1 91ar ¢ d 98 U I=1ad YR $I -5 ded-l & Ty SHd Ul &rdl ¢
YIRd SI MY 8 © fob aides YuRT & gR1 qad SATbiand Hyd gl urdi| e bedil 3R S 9 S IJ0d-HHIRd Jaid &
BRI 399 AR AT FUR 51 &1 HRI Ja1 & B TR IERIG0 AR T YR FRT URSE il 6| §9R | 54 ardl
@R | g URd & Higw FiEa g

Which of the following has strengthened the people's belief in the future?

1. Public welfare policies

2. Narratives of backwardness
3. Limited opportunities

4. Absence of public support




(1) 1
(2) 2
(3) 3
(4) 4

Fgifed o ¥ foge SR yfas o 591 B o1 T83 53 o7

1. Tl BTl gl
2. s & =
3. HIffd 3aeR

4. 5 GHYF @ UG

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31893] Question Description : dwbv_pg_gp4_eng_2_q49
2[Option ID=31894]

3[Option ID=31895]
4[Option ID=31896]

Sl. No.50
QBID:4201050

Read the below passage and answer the following questions

The momentum of change across India is evidenced in the enthusiasm among India's youth. The growth of civil
society organisations, aspirations of youth legislators, and participation of activists are grounded in the market. The
momentum of change across India thus is presented as the politics of hope that is brought about by the power of the
market. We must also note the articulation of the sense of possibility of hope that has been made possible by the market
such that everyday, Indians can leave their village in the hope for something better waiting for them in their future. The
narrative of continual progress and belief in the future thus are intertwined with the individual freedoms that have been
brought about by the market. Belief in the future made possible through self-help and participation in the market is
synonymous with new opportunities. This sense of possibilities then is juxtaposed in the backdrop of welfare services and
public support, which are portrayed as being out of sync with the new imagination of a new empowered India. The story of
an India is that of liberated aspirations made possible by economic reforms. This is further improved by the state based
politics of public welfare and public support. The promise of India in its youth is marked by liberalisation and market reforms.
The miracle of market holds key to the future of India.

Ty 1 uf3T oy ust F 9w diftre

ol yRa # uRadd &1 Yo YRdIG gard | I & ©U J uRdied gial o) ffda aemdt del o fae™, gan f&f-
Fafara @1 Sdian R dradis] & HRGRI & ga H a6k g1 39 Y6R U HRd H URad- & Sd7 &I 120 &1 Ae-1d &
Y § U a1 91 & SR 98 B d9R &1 Wied &dl ol 85 98 HI e &A1 difey & 1= &1 YHIEHT & sy @ [y
JHfieaad Bl I9R GR1 39 UHR GYd §-11 741 & o6 YR 30 d8d? YA &1 UmE § 3041 71id SIs®R 397 o 9od &
=4 YR Idd W &1 AMegH 3T Hiasy § ey i &1 39 Taaaeil 4 idag e & ol seR gR1 UeH fpu mu 8| ©-
TEal R 99R § YAfeRl & f19 ¥ Y4q g Hiaw o fay U aRi &1 gaEmdt g1 9ya-st & 39 91 &f 99
DGR JaT R SH FearT &1 Y H TRYq og1 S1ar ¢ 4 98 U 9= YR B 5 ded-l & Y SHId Ul &irdl ¢
YR B MY U ¢ b S1ie GURI & gRI Had A& T4 g URN| did Hedv AR 9 9HdA S Iod- ARG Ja-1d &
DR 38H AR S GUR g3 & | HRATI @l 37 &1 JAT=N IGRIGU AR SoE YR R1 UREd gl & | 99R § 8H ard
TA@R H g YR @1 Hiaw [ g




3. Urbanisation

1)
(2)
(3)
(4)

A W N R

2. SIS GHUR
3. MRS

1)
(2)
(3)
(4)

A W N R

1[Option ID=31897]
2[Option ID=31898]
3[Option ID=31899]
4[Option ID=31900]

2. Political reforms

For a new empowered India, the passage has highlighted the importance of

1. Controlling the market power

4, Economic reforms and liberalisation

U YREd YR & U 39 T § Fgifed O U $9d 98d &l S9FR [&d1 191 87
1. 9K @1 igd @l a0 BT

4. 1@ GUR HR GRG0

Question Description : dwbv_pg_gp4_eng_2_q50

Paper II : 63-Mass Communication and Journalism

Sl. No.1
QBID:63001

'‘Mc Donaldization' term in the year 1993 was given by

1. Mc Quail, Denis

2. Mc Luhan, Marshall

3. George Ritzer
4. Noam Chomsky

1)
(2)
(3)
(4)

A W N =

FofaRad & O s Toscasigale e &f 1993 H I51 &1 47

1. T, 29
2. 8o g, JrEid
3. Slle XX
4. 9 I

1)
(2)
(3)
(4)

A W N R

1[Option ID=31901]
2[Option ID=31902]

Question Description : dwbv_pg_mcj_eng_2_q1




3[Option ID=31903]
4[Option ID=31904]

Sl. No.2

QBID:63002
Which of the following leaders of independence struggle period had the notion that the main reason of India’s weakness is
the decay of thinking power-there is extension of ignorance in the birth place of knowledge?

1. Mahatma Gandhi

2. Sri Arvindo

3. Swami Dayanand Saraswati
4. Raja Ram Mohan Roy

(1)
(2)
(3)
(4)

e HFEICH BId & (bl YR Ak $f YR Ui i 4R B gaadl B WUH SRUI- = Afdd &1 81 8- B oA
YA o 3 & fdsaR g1

1. HETHT Tiel

2. 41 eRfa=

3. WHI gdHe 3%l
4, =7 9 HigH 19

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=31905] Question Description : dwbv_pg_mcj_eng_2_q2
2[Option ID=31906]
3[Option ID=31907]
4[Option ID=31908]

Sl. No.3
QBID:63003

Which newspaper has a logo- 'Let truth prevail?'

1. The Tribune

2. The Hindu

3. The Statesman
4. Times of India

1)
(2)
(3)
(4)

g A {Wﬁmﬁrﬁ' (T’h"ﬂ] ‘Let truth Prevail’ _15" -

1.1¢ foega
2.fefeg
3. fe wegiA

4. TH HIH iean

A W N R

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=31909] Question Description : dwbv_pg_mcj_eng_2_q3




2[Option ID=31910]
3[Option ID=31911]
4[Option ID=31912]

Sl. No.4
QBID:63004

Guglielmo Marconi shared Nobel Prize with Karl Ferdinand Braun of Germany in the year:

1. 1905
2.1909
3. 1920
4. 1923

1) 1
(2) 2
3) 3
(4) 4

FrofaRea § O feg o § feen arei 3 e & S1d Bidaig oiF & W1y Hidd [REeR T1E fear o1

1. 1905
2.1909
3.1920
4.15823

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31913] Question Description : dwbv_pg_mcj_eng_2_q4
2[Option ID=31914]

3[Option ID=31915]
4[Option ID=31916]

Sl. No.5
QBID:63005

Directing of the collection of data, analysis and interpretation is called

1. Marketing information
2. Marketing research
3. Marketing database
4. Marketing decisions

1) 1
(2) 2
(3) 3
(4) 4

Hiwst (STeNd THAIEH, [I=euu U aaredt & a3 &l dal 9l -

1. fagH =
2. faguE 2ty
3. fguuF Sreeg
4. fauum fvfg

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=31917] Question Description : dwbv_pg_mcj_eng_2_q5




2[Option ID=31918]
3[Option ID=31919]
4[Option ID=31920]

Sl. No.6
QBID:63006

Which of the following software used for the thematic analysis?

1.5PSS

2. AMOS
3. NVIVO
4, EXCEL

1)
(2)
(3)
(4)

A W N R

Frafaied & © iy ieam o v fazemur & e wed fear sar g7

1. SPSS THUITITY
2. AMOS THg

3. NVIVO T-didl
4. EXCEL U99d

(1)
(2)
(3)
(4)

A W N R

1[Option ID=31921] Question Description : dwbv_pg_mcj_eng_2_q6
2[Option ID=31922]
3[Option ID=31923]
4[Option ID=31924]

Sl. No.7
QBID:63007

Study of Social Network is focussed on the relation between social institutions and the nature and impact of these relations:

1. Altantvi and Weast

2. Wireman and Foast

3. Bennet and Sengerberg
4. Karpini and Williams

(1)
(2)
(3)
(4)

e Head & rena fafls gmifed Swune & & Syl iR 37 def & ey 3R UHE R ofad 87

1. Tediad! 3R dre
2. GERER 3R B
3. §9¢ 3R TRef
4. Tt 3R faferamg

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=31925] Question Description : dwbv_pg_mcj_eng_2_q7
2[Option ID=31926]




3[Option ID=31927]
4[Option ID=31928]

Sl. No.8
QBID:63008

Section - 377 of Indian Penal Code is related to:

1. Linguistics discrimination
2. Homasexuality

3. Gender equality

4. Caste sensitization

1) 1
) 2
(3) 3
(4) 4

YR GUs Gfedl &1 4RI 377 Gaftd &:-

1. YT9TS HGHE

2. gHAR®Ar

3. AT 99l

4. SIfd TagI@

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31929] Question Description : dwbv_pg_mcj_eng_2_q8
2[Option ID=31930]

3[Option ID=31931]
4[Option ID=31932]

Sl. No.9
QBID:63009

What was the theme of world press freedom day, 2022:

1. Information as a public good

2. Journalism under digital siege

3. Journalism without fear or favour
4. Media for democracy

1) 1
(2) 2
3) 3
(4) 4

3y U9 Waaar fieag, 2022 &1 4 @ i

1. Qi &d & &0 H g1

2. ((Bfoda W) & siqrid wF@ar
3. YT 7 U&UTd & &1 TABIedn
4. dida o forg Hifgan

1 1
(2) 2
3) 3
4) 4

1[Option ID=31933] Question Description : dwbv_pg_mcj_eng_2_q9
2[Option ID=31934]




3[Option ID=31935]
4[Option ID=31936]

Sl. No.10
QBID:63010

Which is not a Non-probability Sampling Method:

1. Convenience Sampling
2. Stratified Sampling

3. Quota Sampling

4. Judgement Sampling

1)
(2)
(3)
(4)

A W N R

Fafaiad & @ S e R-wftsar ufid=wgq fafy 98 &

1. gfawr wid=a

2. TRIPpd ufaagq
3. ®iel Ufaagq

4. FuioRe ufaaaq

1)
(2)
(3)
(4)

A W N R

1[Option ID=31937] Question Description : dwbv_pg_mcj_eng_2_q10
2[Option ID=31938]
3[Option ID=31939]
4[Option ID=31940]

Sl. No.11
QBID:63011

Which of these films is not directed by Satyajit Ray:

1. Ashani Sanket

2. Ashadh ka ek Din
3. Shatranj Ka Khiladi
4. Sadgati

1)
(2)
(3)
(4)

A W N =

Fufafaa o @ foa v &1 fAdeH gaeiad ¥ 3 72 e &

1. =N b

2. 319G &1 U fe
3. B[S & faars!
4. Ogfd

1)
(2)
(3)
(4)

A W N R




1[Option ID=31945] Question Description : dwbv_pg_mcj_eng_2_q11
2[Option ID=31946]
3[Option ID=31947]
4[Option ID=31948]

Sl. No.12
QBID:63012

Which is the first serilized animation film in India?

1. Ek, Anek aur Ekta
2. Ghayab

3. Motu Patlu

4. Kittu

(1) 1
(2) 2
(3) 3
(4) 4

URd d Fofoied § 9 o9 uRaie® & U (@iRuage) ¥ gyd ot iicd 82
1. U, 3P AR TSl

2.7
RIS
4. fdeg

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31949] Question Description : dwbv_pg_mcj_eng_2_q12
2[Option ID=31950]
3[Option ID=31951]
4[Option ID=31952]

Sl. No.13
QBID:63013

Which was the first Indian cinemascope film?

1. Mughal-E-Azam
2. Kagaz Ke Phool
3. Mahal

4. Mirza Galib

(1) 1
(2) 2
(3) 3
(4) 4

Fafafad 7 9 o gy YR A fiee 4

1. TTA-U-3AT
2. A & B
3. 78d

4, il mifeE

1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=31953] Question Description : dwbv_pg_mcj_eng_2_q13
2[Option ID=31954]
3[Option ID=31955]
4[Option ID=31956]

Sl. No.14
QBID:63014

Adding all kind of special effects including colour correction is done as part of

1. Editing

2. Final cut

3. Editorial finishing
4. Finishing

1)
(2)
(3)
(4)

A W N R

U1 GG (HeR HLaTH) Figd §H TR & WId 3hacy (U UHE) B 18

1. HUgA

2. Tgd B

3. YUy iR
4. TopfafEi

1)
(2)
(3)
(4)

A W N R

1[Option ID=31957] Question Description : dwbv_pg_mcj_eng_2_q14
2[Option ID=31958]
3[Option ID=31959]
4[Option ID=31960]

Sl. No.15
QBID:63015

First print magazine was published in:

1. United State of America
2. China

3. India

4. Germany

(1)
(2)
(3)
(4)

A W N R

Ugail Hisd Uil dei WahIiRid g3 Uz

1. YT T HHERST
2,949

3. HRd

4. SHAT

1 1
) 2




3) 3
(4) 4

1[Option ID=31961] Question Description : dwbv_pg_mcj_eng_2_q15
2[Option ID=31962]
3[Option ID=31963]
4[Option ID=31964]

Sl. No.16
QBID:63016

Which of the following refers for organized efforts of the use of communication and deveopment?

1. Community communication
2. Development communication
3. Community journalism

4. None of the above

1)
(2)
(3)
(4)

A W N R

ofaRad 5 9 &1 9 99R Ufdhal SR 6™ &1 Ui &3 o [0 97féd ward! & Saiid &dl 8:-

1. GG ® §9R
PRCEARECI
3. GHGIO® GAGIRA

4.3 4Bl Tl

1)
(2)
(3)
(4)

A W N R

1[Option ID=31965] Question Description : dwbv_pg_mcj_eng_2_q16
2[Option ID=31966]
3[Option ID=31967]
4[Option ID=31968]

Sl. No.17
QBID:63017

Which state had first applied the Right to Information Act?

1. Kerala

2. Bihar

3. Gujarat
4. Rajasthan

(1)
(2)
(3)
(4)

Fafeiad # ¥ fow I - FduyH o1 & ARSR - ar] feoar g

1. @3
2. faEr

3. e
4. e

A W N R

(1)1
(2) 2
(3) 3




(4) 4

1[Option ID=31969] Question Description : dwbv_pg_mcj_eng_2_q17
2[Option ID=31970]
3[Option ID=31971]
4[Option ID=31972]

Sl. No.18
QBID:63018

Which one of the following is different?

1. Side bar

2. Kicker

3. Backgrounder
4. Byline

(1)
(2)
(3)
(4)

A W N R

e d Yo Te i e

1. GIESaR
2. foax
3. §F UE a3

4. FIgaATRA

1)
(2)
(3)
(4)

A W N R

1[Option ID=31973] Question Description : dwbv_pg_mcj_eng_2_q18
2[Option ID=31974]
3[Option ID=31975]
4[Option ID=31976]

Sl. No.19
QBID:63019

User wants to share content with specific geographic audiences can do so with a feature called -

1. Geo synchronising
2. Geo targeting

3. Geo transmitting
4. Geo informating

1)
(2)
(3)
(4)

ST Ay el & Uy [Tugas] T2 $3-1 91edl &, o/l Ud a=ear 9 foar <1 Udhdl g1 33 Hel Sl &

1. fe-fimAEie
2. Fsfafl-emife

3. Forefl-e gt
4. Foratl-gmiafeT

A W N R

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=31977] Question Description : dwbv_pg_mcj_eng_2_q19
2[Option ID=31978]
3[Option ID=31979]
4[Option ID=31980]

Sl. No.20
QBID:63020

Three organizational sequential levels are:

1. Commercial level, Corporate level, Functional level
2. Corporate level, Commercial level, Functional level
3. Commercial level, Functional level, Strategy level
4. Corporate level, Strategy level, Functional level

(1) 1
) 2
3) 3
4) 4

TETEHS dH HHs T & -

1. T TR, HIUNE WR, FUED TR
2. PR &R, TIUE TR, FATES T
3. T TR, FETED W, WH W
4. BIORE TR, WM TR, PAEHD TR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31981] Question Description : dwbv_pg_mcj_eng_2_q20
2[Option ID=31982]

3[Option ID=31983]
4[Option ID=31984]

Sl. No.21
QBID:63021

Which of the following is an issue in development of corporate strategy?

1. What is our business

2. What is our business and to do with business

3. What resources do we have to implement our strategy
4. We are going in which direction

1) 1
(2) 2
3) 3
(4) 4

H1Ue Tl fasnfd @ | Fafied # ¥ o a1t J51 © -

1.8 g oaam i g

2. EH P HaEEi B € IR S99l & 9y F BT 8

3. AU YUl @I TR @ & ¢ e91X 19 &1 Gareq §
serfpafe =R E

1 1
) 2




3) 3
(4) 4

1[Option ID=31985] Question Description : dwbv_pg_mcj_eng_2_q21
2[Option ID=31986]
3[Option ID=31987]
4[Option ID=31988]

Sl. No.22
QBID:63022

‘Bureau of outreach and communication’ is related to:

1. government advertisements
2. corporate communication
3. private public relation

4. All of the above

1) 1
(2) 2
3) 3
(4) 4

TR HIE HTIed 108 HRIFHRA ey afid 87
1. DRI a7
2. uive GaR
3. Feit sduS
4. IWRiad gt

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=31989] Question Description : dwbv_pg_mcj_eng_2_q22
2[Option ID=31990]

3[Option ID=31991]
4[Option ID=31992]

Sl. No.23
QBID:63023

Which of the following are not four 'P* of a Marketing Mix?

1. Product
2. Price

3. Place

4, Picture

11
(2) 2
3) 3
(4) 4

O H O TE e e & IR 0 s g g 82

1.3dlq
2. ®ifd
3. M
4. fo=

1) 1
) 2




3) 3
(4) 4

1[Option ID=31993] Question Description : dwbv_pg_mcj_eng_2_q23
2[Option ID=31994]
3[Option ID=31995]
4[Option ID=31996]

Sl. No.24
QBID:63024

In 1975, under which of the following censorship was implemented?

1. Press Council Act

2. India Protection Act
3. Defamation Act

4. Press Act

(1) 1
(2) 2
(3) 3
(4) 4

Ty 1975 H, (RfcRad fogd srid Y-y ar] &l i 417

1. UquRue HfEfay
2. YR TL&0T Sfafae
3. 9H-g1A iefms
4. 19 T

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=31997] Question Description : dwbv_pg_mcj_eng_2_q24
2[Option ID=31998]

3[Option ID=31999]
4[Option ID=32000]

Sl. No.25
QBID:63025

Advertisement copy of completely glorified product by any popular personality is called:

1. Rational Advertisement copy
2. Recommend Advertisement copy
3. Dilouge Advertisement copy
4. Humourous Advertisement copy

1) 1
(2) 2
(3) 3
(4) 4

dich 8 Afdd gR1 3G & U= 8 gyl fagmu= SId dgardl o:

1. BT G Sl
2. Tgfa fagmo= St
3. TR G99 Sl

oo

4. greayuf faguH S1dl

1) 1
) 2




3) 3
(4) 4

1[Option ID=32001] Question Description : dwbv_pg_mcj_eng_2_q25
2[Option ID=32002]
3[Option ID=32003]
4[Option ID=32004]

Sl. No.26
QBID:63026

Which of the following is not a characteristics of an advertisement:

1. Verbal

2. Fixed sponsor
3. Personal

4. None of these

1) 1
(2) 2
3) 3
(4) 4

fFrafafad § 9 o 9 a9y @1 1 fRva Tdi s -

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32005] Question Description : dwbv_pg_mcj_eng_2_q26
2[Option ID=32006]

3[Option ID=32007]
4[Option ID=32008]

Sl. No.27
QBID:63027

Vernacular Press Act, 1878 is known as:

1. Litton's Act

2. Gaging Act

3. Complete control Act
4. None of these

11
(2) 2
3) 3
(4) 4

SRR Y Uae 1878 &l fdvg ©U H Hl SH1 91T 8
1. fore &1 sifeafam
2. T TE
3. guf 4430 wae
4.3TH B Tl

1 1




(2) 2

3) 3

(4) 4

1[Option ID=32009] Question Description : dwbv_pg_mcj_eng_2_q27
2[Option ID=32010]

3[Option ID=32011]
4[Option ID=32012]

Sl. No.28
QBID:63028

Who was the pioneer of '‘Bhudan Movement'?

1. Bal Ganga Dhar Tilak
2. Deen Dayal Upadhyay
3. Acharya Vinoba Bhave
4. Ram Manohar Lohiya

(1)1
(2) 2
(3) 3
(4) 4

YEH HialeH & Jolar ¢ -
1. &1 MR fd®
2. 4iF oaTd U™

3. 3R faHian Hid
4. T HATER ifea

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32013] Question Description : dwbv_pg_mcj_eng_2_q28
2[Option ID=32014]

3[Option ID=32015]
4[Option ID=32016]

Sl. No.29
QBID:63029

Which news paper played major role with International Consertium of Investigative Journalist {(ICLJ) in Panama leak case?

1. The Gaurdian

2. La Republica

3. Suddentsche Zaitung
4. Le Monde

(1)1
(2) 2
(3) 3
(4) 4

U1 YR e H1Hc H $e3-3Hd duliegq Hh s-aiRediied sHicRe (IC1) & 9Ty [ 2ReaR = 7@ YT Fyrs i

1. g
2.?1{?{&1&@
3. QeT wged
4.dHE

1 1




(2) 2

3) 3

(4) 4

1[Option ID=32017] Question Description : dwbv_pg_mcj_eng_2_q29
2[Option ID=32018]

3[Option ID=32019]
4[Option ID=32020]

Sl. No.30
QBID:63030

Who has been hououred with * Best Director' award in Dada Saheb Phalke International Films Awards - 20227

1. Anurag Kashyap

2. Ken Gosh

3. Sanjay Leela Bhanshali
4. Karan Johar

(1)1
(2) 2
3) 3
(4) 4

Fafafad & € @F geaed Blied 3e3-3Hd (b hiead Harsd 2022 gRI ‘O SHGR & /dls 4 Gid foean T :

1. HRFT H=EY
2. P19

3. ToTg e Hamet
4, B0 wilgY

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32021] Question Description : dwbv_pg_mcj_eng_2_q30
2[Option ID=32022]

3[Option ID=32023]
4[Option ID=32024]

Sl. No.31
QBID:63031

When was 'Foreign Service Division® established by All India Radio

1. October, 1935
2. October, 1936
3. October, 1938
4. October, 1939

(1) 1
) 2
(3) 3
(4) 4

3Hid S5 Ieal g1 oo™ 9al UYIT & Rl &d 3l T |

1. HALAR 1935
2. Hagal 1936
3. HaCER 1938
4. HFgaR 1939




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32025] Question Description : dwbv_pg_mcj_eng_2_q31
2[Option ID=32026]

3[Option ID=32027]
4[Option ID=32028]

Sl. No.32
QBID:63032

A traditional medium of story telling ‘Burra Katha' is related to which state?

1. Madhya Pradesh
2. Rajasthan

3. Andhra Pradesh
4. Himachal Pradesh

1) 1
(2) 2
(3) 3
(4) 4

TIDYT Y YA (T <) BT U WERFG A1 & o 48y ... I T 87
1. HEOUGE

2. TSR
3. HRITSE
4. BOEa e

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32029] Question Description : dwbv_pg_mcj_eng_2_q32
2[Option ID=32030]

3[Option ID=32031]
4[Option ID=32032]

Sl. No.33
QBID:63033

Which one of the following Commision recommended establishment of R.IN.I?

1. First Press Commission

2. Second Press Commission
3. Majithiya Commission

4. Sarkariya Commission

1) 1
) 2
3) 3
4) 4

R. N. | &1 R0 &9 A & eie ) &1 s iz
1. TYT UG 3R
2. fada U9 smam

3. FSiTSAT SRR
4. TR

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=32033] Question Description : dwbv_pg_mcj_eng_2_q33
2[Option ID=32034]

3[Option ID=32035]
4[Option ID=32036]

Sl. No.34
QBID:63034

Who was the first woman producer and director of Indian cinema:

1. Zoya Akhtar
2. Fatima Begum
3. Devika Rani
4. Mira Nair

1)
(2)
(3)
(4)

A W N =

frafaRad # 9 S a1 $1 usel YR Al Fafd R e 9 -

1. ST SR
2. Hifq| &
3. Sfaer I
4. 4R AR

1)
(2)
(3)
(4)

A W N R

1[Option ID=32037] Question Description : dwbv_pg_mcj_eng_2_q34
2[Option ID=32038]
3[Option ID=32039]
4[Option ID=32040]

Sl. No.35
QBID:63035

All India Radio is known in Hindi News reading for the work of:

1. Ameen Sayani

2. Jainender Singh

3. Devki Nandan Pandey
4. Sfurti Sinha

1)
(2)
(3)
(4)

A W N R

FafeRed & 9 65 TR o & s B g JHia Sf$a1 Sdl & 9F1 9l 52

1. 3 AL

2. o5 g

3. Gad| F5- Uvsy
4. TpTd fr




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32041] Question Description : dwbv_pg_mcj_eng_2_q35
2[Option ID=32042]

3[Option ID=32043]
4[Option ID=32044]

Sl. No.36
QBID:63036

Professional broadcasting from the Radio Station KDKA in Pittsburgh started on:

1. 20 Aug, 1920
2.2 Nov, 1920

3. 14 Nov, 1922
4. 23 June, 1927

1) 1
(2) 2
(3) 3
(4) 4

Toegat o fyd s w3 &, 31 &. U U AEyids 9 H TR &1 ©d WRY a7 717 Uz

1. 20 3FTH, 1920
2.2 994, 1920
3. 14746, 1922
4,23 94, 1927

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32045] Question Description : dwbv_pg_mcj_eng_2_q36
2[Option ID=32046]

3[Option ID=32047]
4[Option ID=32048]

Sl. No.37
QBID:63037

The inventor of the Weorld Wide Web is

1. Basil Bernsteir
2. Tim Berness Lee
3. Ruth Benedict
4. Walter Benjamin

(1) 1
) 2
3) 3
(4) 4

IS A5 S 38 & NABRS &H &7

1. TG S
2. fegsd o
3. Y SHigae
4. Areex AT

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=32049] Question Description : dwbv_pg_mcj_eng_2_q37
2[Option ID=32050]

3[Option ID=32051]
4[Option ID=32052]

Sl. No.38
QBID:63038

‘Fireside Chat Broadcast' was a series of informal talks by

1. Martin Luther King
2. George Bush

3. Franklin D Roosevelt
4. John F Kennedy

(1)1
(2) 2
(3) 3
(4) 4

R T38 U¢ SswRe’ Malfed [bad! HugiRS a1d-9id & Ue S@a 417

1. HIIEA R fdb
2. il g2

3. bicH 31 Tulde
4.5/ TF B1al

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32053] Question Description : dwbv_pg_mcj_eng_2_q38
2[Option ID=32054]

3[Option ID=32055]
4[Option ID=32056]

Sl. No.39
QBID:63039

Full form of ASCII is

1. American Standard Code for Internet Interchange

2. American Standard Code for Information Interchange
3. Asian Standard Code for Internet Interchange

4. Asian Standard Code for Infermation Interchange

(1) 1
) 2
3) 3
(4) 4

T Y. . o5, . S [Fga T 8-
1. $HREH LSS DIS BR e sexdal
2. $HR® ESS Bis BR FHRATH gedds
3. URIGH WS ®IS BR 3e3-e sexda
4. U €SS B8 BR §HRATH Seids




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32057] Question Description : dwbv_pg_mcj_eng_2_q39
2[Option ID=32058]

3[Option ID=32059]
4[Option ID=32060]

Sl. No.40
QBID:63040

In which year film industry begin using a rating system?

1.1958
2. 1968
3.1972
4.1978

1) 1
(2) 2
(3) 3
(4) 4

FHifed fog ot o fieeq 3o 3 3T Ries &1 v iy foan

1.1958
2. 1968
3.1972
4.1978

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32061] Question Description : dwbv_pg_mcj_eng_2_q40
2[Option ID=32062]

3[Option ID=32063]
4[Option ID=32064]

Sl. No.41
QBID:63041

Programmes are broadcasted on Radio:

A, Hawa Mahal

B. Tamas

C. Binaca Geet Mala

D.Jay Mala

E. Hum Log

Choose the correct answer from the options given below:

1. A B and C only.
2. A, Cand D only.
3.B, C and E only.
4.C, D and E only.

(1) 1
(2) 2




3) 3
(4) 4

ST R ygIid A E

A ®dlHed

B. Y

C. farT Tiid A

D. SRIATE

E. GHN

i<l feu 1u fadedl & 4 981 SR g -
1.Ha A, B AR C
2.6ad A, CHRD

3. $ddAB, C ARE
4.HaAC, DARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32065] Question Description : dwbv_pg_mcj_eng_2_q41
2[Option ID=32066]

3[Option ID=32067]
4[Option ID=32068]

Sl. No.42
QBID:63042

Important components of page-makeup are:

A, Connection

B. Easyness

C. Balance

D. Firmness

E. Contradiction

Choose the correct answer from the options given below:

1. A D and E only.
2.B, Cand D only.
3. A Cand D only.
4. B, D and A only.

1) 1
(2) 2
3) 3
(4) 4




Uy Ul o AP dd & -

A HTTRT

B. [goral

C. e

D. geedl

ACHEICIE]

i< feu 7Tu fadedl 5 9 98l SR 9 -
1. ®ad A DR E
2.%q0 B, C 3R D

3. Had A, C 3R D
4.%HaaAB, D 3R A

1)
(2)
(3)
(4)

A W N R

1[Option ID=32069] Question Description : dwbv_pg_mcj_eng_2_q42
2[Option ID=32070]
3[Option ID=32071]
4[Option ID=32072]

Sl. No.43
QBID:63043

Which of the following are News papers published in Sanskrit language?
A. Prabha

B. Sudharma

C. Adhikar

D. Jayanti

E. Aryamitra

Choose the correct answer from the options given below:

1. A B and C only.
2.B, D and E only.
3.B, Cand D only.
4.C, D and E only.

(1)
(2)
(3)
(4)

A W N R




9 o U SH-BH I Thd HINT H UBIRId U 87

ATHT

B. germ
C. PR
D. Wil

£,

i U 71U el § 4 98l ST g -

1. BaAA, B3R C
2.%ad B, D3R E
3.%ad B, C AR D
4.%aAC, D ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=32073]
2[Option ID=32074]
3[Option ID=32075]
4[Option ID=32076]

Question Description : dwbv_pg_mcj_eng_2_q43

Sl. No.44
QBID:63044

Which of the following comes under qualitative research?

A. Population method
B. Focus group

C. Case study

D. Ethnography

E. Content analysis

Choose the correct answer from the options given below:

1. A B and C only.
2.C, D and E only.
3.B, Cand D only.
4. A D and E only.

(1)
(2)
(3)
(4)

A W N R




U Y & i A 87

A SO fafy

B. Bi®Yg JU

C.HEES!

D. SYFITET

E. 3fda¥g fazemor

i< feu 7Tu fadedl 5 9 98l IR 9 -
1. AT A, B 3R C
2. %9 C, D ARE

3. HadB, C AR D
4. HadA DIARE

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32077] Question Description : dwbv_pg_mcj_eng_2_q44
2[Option ID=32078]
3[Option ID=32079]
4[Option ID=32080]

Sl. No.45
QBID:63045

Tools of Research are:

A. Questionaire

B. Content analysis

C. Schedule

D. Focus group

E. Measurement

Choose the correct answer from the options given below:

1. A, B and D only.
2.B, D and E only.
3. A D and E only.
4. A, Cand E only.

(1)
(2)
(3)
(4)

A W N R




e & JUDRI ¢ -
A UM

B. Jdiasq fa=eau
C. 3yl

D. Bied J4

E. SfHITH

o fEu U fodheal 4 9 98 S g -
1.®ad A, B3R D
2. %ad B, D AR E

3. HadA D IRE
4. HAAA, CAHRE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32081] Question Description : dwbv_pg_mcj_eng_2_q45
2[Option ID=32082]

3[Option ID=32083]
4[Option ID=32084]

Sl. No.46
QBID:63046

The techniques which are used to measure ‘readership’,
A. Unmixed recall method

B. Unaided recall method

C. Aided recall method

D. Recognition method

E. Unrecognition method

Choose the correct answer from the options given below:

1. A B and C only.
2.B, Cand D only.
3.C, D and E only.
4. A, D and E only.

(1) 1
(2) 2
3) 3
(4) 4




qIac T3] I AU o HIH-HI HiafEdl &1 SudiT $d 82
A TR-TEfE Hger fafy
B. TR-TETadl U 1% R0 fafd
C. TRl UG 80T fafy
D. Ugd AT fafe
E. 3@ fafy
=< feu 7Tu fadedl 5 9 981 SR 9 -
1. A A, B 3R C
2,640 B, C 3R D

3.HaAC, DIHRE
4.%aAD, EAR A

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32085] Question Description : dwbv_pg_mcj_eng_2_q46
2[Option ID=32086]

3[Option ID=32087]
4[Option ID=32088]

Sl. No.47
QBID:63047

Following are Hindi magazines published during 1900-1947.
A. Chand

B. Kadambini

C. Vishal Bharat

D. Swarajya

E. Akhand Jyoti

Choose the correct answer from the options given below:

1. A, B and C only.
2. A, Cand D only.
3.B, C and E only.
4.C, D and E only.

(1) 1
(2) 2
3) 3
(4) 4




T 1900-1947 P did DI fgal I UHIPIL G :
A G
B. PIGHHT
c. fqama ¥4
D. TR
£ S i
i< feu 7Tu fadedl 5 9 98l SR 9 -
1. @A A, B 3R C
2. %90 A, CHRD

3. HadB, C ARE
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32089] Question Description : dwbv_pg_mcj_eng_2_q47
2[Option ID=32090]

3[Option ID=32091]
4[Option ID=32092]

Sl. No.48
QBID:63048

Select the common terms used in Public Relations are

A. delebrate

B. performance

C. reporting

D. public interest

E. planned

Choose the correct answer from the options given below:

1.AEBD
2.EDBA
3.0,CAEB
4B A CA

1)1
(2) 2
(3) 3
(4) 4




SIS ¥ Uad g aTd G W15 &1 19 1T -

A Gdbied

5. Fmrea

c. fegifém

D. T& ®id

e, Faifea

< feu e fadenl o U 98l SR g :
1.®Wad A, E B3R D
2. BAdE D, B3R A
3.HaAD, C, A3 B
4.HaAB, A, C HRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32093] Question Description : dwbv_pg_mcj_eng_2_q48
2[Option ID=32094]

3[Option ID=32095]
4[Option ID=32096]

Sl. No.49
QBID:63049

Following are Communication Scientist:

A. Marshall Mcluhan

B. Marx

C. George Gerbner

D. Mc Quail

E. Freud

Choose the correct answer from the options given below:

1. A, B and C only.
2. A, Cand D only.
3. A B and D only.
4. A B and E only.

1) 1
(2) 2
3) 3
(4) 4




9 H 9 9aR fagH © -

A. HTEid AREH

B. AT

C. SffSi TR

D. 8d &d

LS

i< feu e fadedl § 9 981 SR g -
1. @A, B 3R C
2.Bad A, CHRD

3. %adA, B 3R D
4.FHaAA, BARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32097] Question Description : dwbv_pg_mcj_eng_2_q49
2[Option ID=32098]

3[Option ID=32099]
4[Option ID=32100]

Sl. No.50
QBID:63050

Which of these theories have been identified by Public Relation Experts:
A. Theory of Innovation

B. Theory of Bureaucracy

C. Theory of Knowledge

D. Theory of Human Relations

E. Theory of Scientific Management

Choose the correct answer from the options given below:

1. A D and E only.
2.B,Cand D only.
3. A Cand D only.
4.B, D and E only.

1) 1
(2) 2
3) 3
(4) 4




TS AR = o fusidl # uear a1 3
A 9ER fHgid

B. el gl

C. WM &1 fbgid

D. AHd €& [Hgid

E. aqiA® Uet g

< feu e fadenl o U 98l SR g :
1.®HAA A, D AR E
2. ®dd B, C 3R D

3. Had A, C 3R D
4.%HadB, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32101] Question Description : dwbv_pg_mcj_eng_2_q50
2[Option ID=32102]

3[Option ID=32103]
4[Option ID=32104]

Sl. No.51
QBID:63051

Colonel Lindal Darvil has expressed the Theory of Organisation in following terms:
A. Theory of Objective

B. Theory of Press

C. Cognitive Theory

D. Theory of Rights

E. Theory of Interpretation

Choose the correct answer from the options given below:

1. A, Dand E only.
2. A, B and E only.
3.B, C and D only.
4.B, D and E only.

1) 1
(2) 2
3) 3
(4) 4




Fd [CIUSTd Siad 3 Y7164 [Gidl @i 39 UHR odad [l & -
A. 35X 31 fagid
B. 7 @1 faid
C. §9HTES fogia
D. UHR &I fbsid
E. ST & THaid
=< feu 7Tu fadedl 5 9 981 SR 9 -
1. ®ad A D3R E
2. Bat A B R E

3. HadB, C AR D
4.%ddB, D 3RE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32105] Question Description : dwbv_pg_mcj_eng_2_q51
2[Option ID=32106]

3[Option ID=32107]
4[Option ID=32108]

Sl. No.52
QBID:63052

News agencies related to countries:

A. Antara (Indonesia)

B. Samachar Bharti (India)

C. Middle East News Agency (Israel)

D. WAFA (Russia)

E. Inter Press Service (ltaly)

Choose the correct answer from the options given below:

1. A B and C only.
2. A, B and E only.
3. A Band D only.
4.B, D and E only.

1) 1
(2) 2
3) 3
(4) 4




gaER giEfagi o T d6fid 8r

A, 3T (FSHREM

B. FHMER HRd (HRA)

C. ieyd YR 9T (GeRE)

D. T (F4)

E. 32309 949 (ea)

i T U el § 9 98l ST g -

1. BaAA, B3R C
2. %A A, BARE
3. WA A, B3R D
4.%ddB, D ARE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=32109]
2[Option ID=32110]

3[Option ID=32111]
4[Option ID=32112]

Question Description : dwbv_pg_mcj_eng_2_q52

Sl. No.53
QBID:63053

Software's for newspaper design (editing)

A. Dream Weaver
B. Adobe InDesign
C. Adobe lllustrator
D. Edition digital

E. YUDU

Choose the correct answer from the options given below:

1. A B and C only.
2.B, D and E only.
3.B, C and D only.
4.C, D and E only.

1) 1
(2) 2
3) 3
(4) 4




THER-TA &0 (GUTeH) & GitediR ®H-2 U 87
A SiHdlEY

8. Talal ZAfgwTzA

C. TSl FaER

D. TS fsfeea

Edg

o fEu U fodheal 4 9 98 S g -
1.®ad A, B AR C
2. %ad B, D AR E

3. HadB, C AR D
4.%adC, D ARE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32113] Question Description : dwbv_pg_mcj_eng_2_q53
2[Option ID=32114]

3[Option ID=32115]
4[Option ID=32116]

Sl. No.54
QBID:63054

Writing questions for Survey Research is-

A. Research questions should be short.

B. Avoid biased words or term.

C. Use questions that ask for high detailed information.

D. Avoid potentially embarrassing questions unless they are absoclutely necessary.

E. Preliminary questions cannot serve as motivation to create interest in the questionaire.
Choose the correct answer from the options given below:

1. A B and C only.
2. A, B and D only.
3.B, Cand D only.
4.C, D and E only.

(1) 1
(2) 2
3) 3
(4) 4




Gae(ur Ty & g vl i fore w5

A. MY T8l 1 BIeT 5H1 F1feT

B. G&OTgUf Sreat a1 HIeT ¥ g2

C. U Ul &1 WaRT A1 foH e [a%gd IHeRI g8 71 8l

D. 94 d® 9gd 3Ma%dd A 8, YHIdd U H GLEIH & ardd Ui § gg-1
£ MTUfEe Uy ueTac # ST 1 00T % &0 & B 981 B2 9%d &
e fer e awedl H 4 WEI SR A -

1.®Bad A, B 3R C

2.®add A, B3R D

3. $ad B, C AR D
4. %A C, D ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=32117] Question Description : dwbv_pg_mcj_eng_2_q54
2[Option ID=32118]
3[Option ID=32119]
4[Option ID=32120]

Sl. No.55
QBID:63055

Animated series casted on Doordarshan:

A. The Jungle book

B. CHANAKYA

C. APPU AUR PAPPU

D. Chamatkari Teletion

E. Ducktales

Choose the correct answer from the options given below:

1. A, B and C only.
2.B, C and D only.
3. A Cand D only.
4. A D and E only.

(1)
(2)
(3)
(4)

A W N R




G W UHId giH alel THiHdS YRMEIe® ¢

A T OE g

B. 0

C.

D.

0] SR T
BRI SfaRH

E. 5% ¢cH
< feu e fadenl o U 98l SR g :

1. BaAA, B3R C
2.%ad B, C AR D
3.Bad A, CHR D
4.PdAA D ARE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=32121]
2[Option ID=32122]

3[Option ID=32123]
4[Option ID=32124]

Question Description : dwbv_pg_mcj_eng_2_q55

Sl. No.56
QBID:63056

That News readers who has been related to Doordarshan

A. Sweta Singh

B. Manjari Joshi

C. Chitra Tripathi
D. Neelam Sharma

E. Salma Sultan

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

1. A B and E only.
2.B, C and E only.
3.B, D and E only.
4.C, D and E only.

A W N R




GG U el SHER aifdaT 6 67
A %o g

B. Hor il

c. o= frundt

D. e T

E. GeHT YedH

o fGu U fodheal 3 9 98 S g -
1.®ad A, B3R E
2. %ad B, C 3R E

3. %dd B, D AN E
4.%adC, D ARE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32125] Question Description : dwbv_pg_mcj_eng_2_q56
2[Option ID=32126]

3[Option ID=32127]
4[Option ID=32128]

Sl. No.57
QBID:63057

Incorrect conclusions about the validity of a hypothesis may be drawn if-
A. The study design selected is faulty.

B. The analysis is wrong.

C. The synopsis has been made wrong.

D. The report writing is inappropriate.

E. The sampling procedure adopted is faulty.

Choose the correct answer from the options given below:

1. A, B and D only.
2. A, B and E only.
3. A B and C only.
4.B, C and D only.

(1)1
(2) 2
(3) 3
(4) 4




ol U el @1 agdl & aR 1 Tad [H5p Fadie o 9dd & dic:-

A, T 3eET ey gy 8l
B. faeiuor TTed B

C. BUET (Hem) S Tod S99 T 6
D. RUIE T 3F3uYad g

E. AU TS (i) Uicraa Wisan aiugul 81
i feu 7 fadhedl § 9 UEl IR 94 :
1.®WAAA, B3R D
2. BadA B3R E

3. HAAA, B AR C
4.%HaAB,C ARD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32129] Question Description : dwbv_pg_mcj_eng_2_q57
2[Option ID=32130]

3[Option ID=32131]
4[Option ID=32132]

Sl. No.58
QBID:63058

Advertising is-

A. Social

B. Intrusive

C. Market Maker

D. Crass

E. Manipulative

Choose the correct answer from the options given below:

1. A Cand B only.
2.B, D and E only.
3. A D and E only
4. A, B and D only.

OR!
(2) 2
3) 3
(4) 4




farsTae 8-

A IS

B. afqddl

C. SR AT
D. HfddER

E. Bayul

o fEu U fodheal 4 9 98 S g -
1.®ad A, C AR B
2. %ad B, D AR E

3. HAAE, D AR A
4. %A D, A AR B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32133] Question Description : dwbv_pg_mcj_eng_2_q58
2[Option ID=32134]

3[Option ID=32135]
4[Option ID=32136]

Sl. No.59
QBID:63059

International Advertising reaches across-

A. State Boundaries

B. National Boundaries

C. Cultural Boundaries

D. International Boundaries

E. Local Boundaries

Choose the correct answer from the options given below:

1. A and D only.
2.Cand E only.
3.B and C only.
4.B and E only.

(1) 1
(2) 2
3) 3
(4) 4




JHaRIY AU 1 Ugd Pel d 67
A. oG 91
B. TFTT WA
C. gipids T
D. SRR ATy
E. ®yg digng
o fEu U fodheal 4 9 98 S g -
1.®ad D AR A
2. HadC AR E
3. Haa B AR C
4. HAAE AR B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32137] Question Description : dwbv_pg_mcj_eng_2_q59
2[Option ID=32138]

3[Option ID=32139]
4[Option ID=32140]

Sl. No.60
QBID:63060

Choose the correct set of TV serials and their Director's name:
A. Buniyad ( Manchar Shyam Joshi )

B. Shaktiman ( Dinker Jani)

C. Chanakya ( Chandra Prakash Dwivedi)

D. Malgudi Days ( Ramesh Sippy )

E. Byomkesh Bakshi ( Basu Chatterjee )

Choose the correct answer from the options given below:

1. A B and D only.
2.B, C and E only.
3.B, D and E only.
4.C, D and E only.

(1) 1
(2) 2
3) 3
(4) 4




<1 df yRTale S| Ud FeRd! & A1 ard gl 9P &l HT-
A g1 (FHIER T SiEh)
B. TIfaaH (G o=
C. 0 (T e fgda)
D. FIHIE! S (X e
E. HBR SaRl (S1g 9esl)
i< feu 7Tu fadedl 5 9 98l IR 9 -
1. ®ad A, B3R D
2.%qd B, C ARE

3. %dd B, D AN E
4.%adC, D ARE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32141] Question Description : dwbv_pg_mcj_eng_2_q60
2[Option ID=32142]

3[Option ID=32143]
4[Option ID=32144]

Sl. No.61
QBID:63061

|dentify the correct non-random sampling designs-

A. Cluster Sampling

B. Quota Sampling

C. Stratified Sampling

D. Accidental Sampling

E. Snowball Sampling

Choose the correct answer from the options given below:

1. A B and C only.
2.B, Cand D only.
3.B, D and E only.
4.C, D and E only.

(1) 1
(2) 2
3) 3
(4) 4




Tol R-urefose ufges! sfiesa & ug=ie:-

A TS () Hideg
B. diel (fowa) ufaed

C. WHidd Hfagal

D. & ® faasl

E. Wiea Haegl

i< f&T 70 fadedi # 9 981 ST I -
1. @A A, B 3R C
2.%q0 B, C 3R D

3. %dd B, D ANE
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32145] Question Description : dwbv_pg_mcj_eng_2_q61
2[Option ID=32146]

3[Option ID=32147]
4[Option ID=32148]

Sl. No.62
QBID:63062

Choose the correct event year:

A. Broadcast started by Radio Club of Bombay (1923)

B. Lione! Fielder became first Controller of Broadcasting in India (1936)
C. Bhasha Bharti Channel of AIR launched (2004)

D. Introduction of National Channel (1989)

E. Radio Paging Service inaugurated (1995)

Choose the correct answer from the options given below:

1. A, B and C only.
2. A, Cand E only.
3.B, C and E only.
4.C, D and E only.

1) 1
(2) 2
3) 3
(4) 4




gee & gel ¥ @f gHe-
A. 919 (ST 9 RI THRYI &1 EAHT (1923)
B. feRad Wit YRd & FIS&Ie & UuH HO9@ ST T (1936)
C. U 35 3R B HINT HRdT oe URH §31 (2004)
D. PTY T1 DT YHIRH (1989)
£. Xf&T1 UTSiT Ua1 &1 Igare fda1 74T (1995)
i< f&T 70 fadedi # 9 981 ST I -
1. @A A, B 3R C
2. Bat A, C 3R E

3. HadB, C ARE
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32149] Question Description : dwbv_pg_mcj_eng_2_q62
2[Option ID=32150]

3[Option ID=32151]
4[Option ID=32152]

Sl. No.63
QBID:63063

Persuation technique in advertising include-

A. Repetition

B. Mimicry

C. Personification

D. Endorsement

E. The something for nothing

Choose the correct answer from the options given below:

1. A, Cand E only.
2. A, B and C only.
3.C, D and E only.
4. A, D and E only.

1) 1
(2) 2
3) 3
(4) 4




faqTo | wama= ufafy Fgifed feg e et a7

A GEXId

B. fafHe!

C. IH&T

D. UBI&H

£ S 8l 4o dl

=< feu 7Tu fadedl 5 9 981 SR 9 -
1. ®ad A, C3RE
2. Bad A, BIHR C

3.HaAC, DIHRE
4. HadA DIARE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32153] Question Description : dwbv_pg_mcj_eng_2_q63
2[Option ID=32154]

3[Option ID=32155]
4[Option ID=32156]

Sl. No.64
QBID:63064

Identify the ethical issues relating to the researcher-

A. Avoiding lies

B. Maintaining confidentiality

C. Inappropriate use of the information

D. Seeking sensitive information

E. Provision or deprivation of a treatment

Choose the correct answer from the options given below:

1. A, B and C only.
2.B, Cand D only.
3.C, D and E only.
4. A, Cand E only.

1) 1
(2) 2
3) 3
(4) 4




Tyt O el Afde gef @f ugaiHe-

A. T8O O g1

B. TU-TadT SR@RE TG

C. GaH1 BT GEUIRT
D. HaGARie Gl

. for it (FeaTe (SUaER) &1 Wiy 3fyal go-
i feu 7 fadhedi H U Ugl IR 94 -

1. BaAA, B3R C
2.%ad B, C AR D
3.%aq C, D AR E
4. PIAA CHRE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=32157]
2[Option ID=32158]

3[Option ID=32159]
4[Option ID=32160]

Question Description : dwbv_pg_mcj_eng_2_q64

Sl. No.65
QBID:63065

Following are the columnist of Newspapers-

A. S. Jaganathan
B. Kak

C. Ravikant

D. M.M. Goyal

E. Sudhir Dhar

Choose the correct answer from the options given below:

1. A Cand D only.
2. A, B and C only.
3.B, Cand D only.
4.C, D and E only.

1)1
(2) 2
(3) 3
(4) 4




FHER Ul & THDR &--

A TH. SHEYE

B. BID

C. Aadia

D. TH. TH. 711

E g

=< feu 7Tu fadedl 5 9 981 SR 9 -
1. ®ad A, C3R D
2. Bad A, BIHR C

3. HadB, C AR D
4.%adC, D ARE

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=32161] Question Description : dwbv_pg_mcj_eng_2_q65

2[Option ID=32162]
3[Option ID=32163]
4[Option ID=32164]

Sl. No.66
QBID:63066

Match List | with List 11

List |

List 1l

Communication Model

Communication Expert

A. Circular Model

. Aristotle

B. Rhetoric Model

Il. Willbur Schramm

C. Social Psychology Model

lll. Shannon and Warren Weaver

D. Mathematical Model

IV. B. W. Westley And M. Maclean

Choose the correct answer from the options given below:

TA-LE-NIILC-IV,D-1
2ZA-ILB-1LC-IV,D-1I
A-ILB-LC-1,D-1V
4A-LB-ILC-IV,.D-1I

1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

Tl - IR U=y Tl -1 AR g

A. BT HiST I 3RE

B. YeiN® Algd IREGEE L

C. TS TIfagH Aisd I1l. TAR 3R g dia

p. TIfordig Afsa . §l. S&cy, dEeil 3R UH, Had
Hid feu e fadeal # 9§ 98l 3T gHU :

TA-LE-NIILC-IV,D-1
2ZA-ILB-LC-IV,D-1I
3A-ILB-LC-1L,D-1V
4AA-LB-1ILC-IV,.D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32165] Question Description : dwbv_pg_mcj_eng_2_q66
2[Option ID=32166]

3[Option ID=32167]
4[Option ID=32168]

Sl. No.67
QBID:63067

Match List I with List Il

List | List 11
COMMITTEE YEAR
A. Paswan Commette I. 1964
B. Sengupta Commette I 1977
C. Kuldip Nayar Commette 1. 1995
D. Chanda Commette IV. 1996

Choose the correct answer from the options given below:

T.A-W,B-U,C-Il,D-1
ZA-ILB-NL,C-1,D-1V
3.A-IV,B-LC-1,D-1I
4A-1L,B-1LC-IV,D-1I

1) 1
(2) 2
3) 3
4) 4




Tt -1 B gt -1 o gafed S

i -1 it T -1 R 9y
A, OTHaH | 1. 1964

8. I Tt II. 1977

C. PagIu AR Gifd 1Il. 1995

D. Tl |iHfd IV. 1996

o feu e fadeal # 9§ Ugl 3T gHU :

TA-IW,B-II,C-I,D-1
ZA-ILB-NL,C-1L,D-1V
3.A-IV,B-LC-1,D-1
4AA-1L,B-1LC-IV,D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32169] Question Description : dwbv_pg_mcj_eng_2_q67
2[Option ID=32170]

3[Option ID=32171]
4[Option ID=32172]

Sl. No.68
QBID:63068

Match List | with List I

List | List Il

Name of Newspaper Name of Editor

A. Samachar Sudhavarshan . Ajimulla Khan

B. Samwad Kaumudi Il. Pandit Shyam Sunder Sen
C. Payame Azadi lll. Raja Ram Mohan Roy

D. Kavi Vachan Sudha IV. Bhartendu Harishchandra

Choose the correct answer from the options given below:

TA-LB-NIILC-IV,D-1
2ZA-ILB-I,C-1,D-1IV
A-ILE-IILC-IV,D-1
4A-NLB-1,C-1,D-1V

(1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gafed S

Tl -1 AR U &1 9H gl -1l §HIGd B M
A. GHER GUIQuu| |, Sfeigee @H

B. TaTG DIgar II. UfSd =™ a3 31
C. TG SHTSE] 111, XTSI X AeA I
D. Bid ga Gl IV. HRdg gU¥Es
o feu e fadeal # 9§ Ugl 3T gHU :

TA-LE-NIILC-IV,D-1
ZA-ILB-NL,C-1L,D-1V
3.A-ILB-IILC-1IV,D-1
AA-NL,B-1,C-1,D-1V

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32173] Question Description : dwbv_pg_mcj_eng_2_q68
2[Option ID=32174]

3[Option ID=32175]
4[Option ID=32176]

Sl. No.69
QBID:63069

Match List | with List I

List | List 11
Commissions Year

A. Mac Bride Commission l. 1952
B. Sarkariya Commission . 1977
C. Hutchins Commission 1. 1983
D. First Press Commission V. 1947

Choose the correct answer from the options given below:

TA-W,B-LC-1,D-1I
2ZA-1LB-N,C-1V,D-I
A-ILE-IV,C-1ILD-1
4A-IV,B-ILC-1,D-1

(1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

Il -1 ST Il -1y
A AHASS AN . 1952

8. IR SN 1. 1977
C. BAI=T AT 11l 1983
D. WH U 3R IV. 1947
Hid feu e fadeal # 9§ 98l 3T gHU :

TA-IW,B-LC-1I,D-1I
2ZA-IL,B-NL,C-IV,D-1
3A-ILB-IV,C-1LD-1
4A-IV,B-ILC-1,D-1

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=32177]
2[Option ID=32178]

3[Option ID=32179]
4[Option ID=32180]

Question Description : dwbv_pg_mcj_eng_2_q69

Sl. No.70
QBID:63070

Match List I with List Il

List 1

List 1l

A. Sound manipulation on audio mixer

l. segue

B. Transitioning from one sound effect to another]ll. pixels

C. Climax scene sound track

lll. equalizing

D. Screen resolution of TV

IV. non-digetic

Choose the correct answer from the options given below:

TA-ILB-L,C-IV,D-1
2ZA-NLB-1,C-1IV,.D-1
3.A-LB-IV,C-IL,D-1I
4A-N,B-1L,C-1,D-1V

(1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

gl -| T -l

A HTET! TR R af ge 81 1T

.06 @ U 3 WUNE & U U |11, fosdey

C. FIsHF UH Tds ¢ I|I. SE T3S (THGHR)
D. 2141 &1 1%pA RelieH Iv. H SEuifed

i feu e fadenl # 9§ 9gl 3w gHU :

TA-ILE-L,LC-IV,D-1
2ZA-NLB-1,C-1V,D-1
3A-LBE-IV,C-1I,D-1I
4 A-NLB-1,C-1I,D-IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32181] Question Description : dwbv_pg_mcj_eng_2_q70
2[Option ID=32182]

3[Option ID=32183]
4[Option ID=32184]

Sl. No.71
QBID:63071

Match List I with List Il

List | List 1l
News Paper Years
A. The Tribune l. 1875
B. The Statesman 1. 1888
C. Amrit Bazaar Pathrika 1. 1881
D. Malayalam Manorama V. 1868

Choose the correct answer from the options given below:

TA-ILB-IV,C-1LD-1
ZA-IV,B-ILC-N,D-1
3.A-ILB-L,C-IV,D-1
4A-IV,B-1,C-1I,D-1I

1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

Il -| YHER U ol -1 gy
A. T fosgd I. 1875

B. T WU II. 1888
C. 3Hd deR Ui IIl. 1881
D. HEGTH HARHT IV. 1868
i feu e fadedl § 9 9al IR 90

TA-ILE-IV,C-1,D-1
2ZA-IV,B-IL,C-NI,D-1
3A-ILB-L,C-IV,D-1
4A-IV,B-1.C-1l,D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32185] Question Description : dwbv_pg_mcj_eng_2_q71
2[Option ID=32186]

3[Option ID=32187]
4[Option ID=32188]

Sl. No.72
QBID:63072

Match List | with List I

List | List Il
Act Year

A. Right to Information Act  |I. 1923
B. The Contempt of Court Act|ll. 1957
C. Indian Copyright Act . 1971
D. The official Secrets Act IV. 2005

Choose the correct answer from the options given below:

TA-IW,B-IILC-1,D-1
2ZA-LE-ILC-IV,D-1
A-ILEB-LC-IV,D-1
4A-IV,B-1,C-1I,D-1I

1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

-1

Tt -1l 3y

A, I BT AGRR AfSFge . 1923
B. T SATHAAT SAfafgH II. 1957
C. Yo ®iuREge g . 1971
D. TTES T Y14 Sifafas IV. 2005

= feu e fededl & 9 9el ST gL

TA-IW,B-III,C-1,D-1
2ZA-LB-NIL,C-IV,D-1
3A-ILB-L,C-IV,D-1
4A-IV,B-1.C-1l,D-1I

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=32189]
2[Option ID=32190]

3[Option ID=32191]
4[Option ID=32192]

Question Description : dwbv_pg_mcj_eng_2_q72

Sl. No.73
QBID:63073

Match List I with List Il

List 1 List Il

A. The Big Bang Theory|l. Mani Kaul

B. Bahubali Il. Rajesh Korohrappali

C. Cartoonist I1I. Sabu Cyril

D. Mati Manas V. R.K.Laxman

Choose the correct answer from the options given below:

TA-LB-IILC-1,D-1V
2ZA-LB-ILC-U,D-IV
A-ILB-IL,C-IV,D-I
4A-1IL,BE-IV,C-1,D-1I

1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

Tl -l g -l

A Tl dT A | AU DI

8. STgaal 11. XTSI DI
C. BIEHE . g fafga

D. Al HHY V. 3R, &, &0l
i feu e fadedl § 9 9al IR 90

TA-LE-NIILC-1,D-1V
2ZA-LB-ILC-U,D-1V
A-ILB-IILC-1IV,D-1
4 A-1LB-IV,C-1,D-1I

1)
(2)
(3)
(4)

A W N R

1[Option ID=32193] Question Description : dwbv_pg_mcj_eng_2_q73
2[Option ID=32194]
3[Option ID=32195]
4[Option ID=32196]

Sl. No.74
QBID:63074

Match List | with List I

List | List I
Channel Types

A. Katyayani I. Infotainment
B. Sony Ten 3 IIl. Movie

C. Epic lll. Sports

D. B4U Kadak IV. Religious

Choose the correct answer from the options given below:

TA-NILB-LC-1,D-1IV
2ZA-IV,B-ILC-NL,D-I
A-IV,B-IILC-1,D-1
4A-1ILB-NL,C-1,D-1V

1)
(2)
(3)
(4)

A W N =




Tt -1 B gt -1 o gAfed st

- &1 g

A, BT . 3BT

5. T2 3 1. 7t
C. uftdm L. ey
D. 9 4G BSh . unfie
i feu e fadedl § 9 9al IR 90

TA-ILB-LC-1,D-1V
2ZA-IV,B-IL,C-NI,D-1
A-IV,B-IILC-1,D-1
4 A-1ILB-1I,C-1,D-1IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32197] Question Description : dwbv_pg_mcj_eng_2_q74
2[Option ID=32198]

3[Option ID=32199]
4[Option ID=32200]

Sl. No.75
QBID:63075

Match List | with List I

List | List 11

Folk Dance State

A. Lavani I. Assam

B. Bihu II. Rajasthan

C. Mataki dance l1l. Maharashtra

D. Ghoomar IV. Madhya Pradesh

Choose the correct answer from the options given below:

TA-ILB-IILC-IV,D-1
2ZA-NLE-IV,C-LLD-1
.A-LE-IV.C-1IILD-1

4A-NLB-1,C-IV,D-1

1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

el -1 A ol -1l weE
A. TG | EA
B.fag 11, JToTYTH
C. He®l T4 Ill. HERTY
D. g} V. HEUGR
i feu e fadedl § 9 9al IR 90

TA-ILE-IILC-IV,D-1
2ZA-NLB-IV,C-1,D-1
3.A-LB-IV,C-1Il,D -1
4A-NLB-1,C-IV,D-1

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=32201]
2[Option ID=32202]

3[Option ID=32203]
4[Option ID=32204]

Question Description : dwbv_pg_mcj_eng_2_q75

Sl. No.76
QBID:63076

With respect to the professional responsibilty a journalist should have deep understanding of:
A. Commitment

B. Reading

C. Moral Norms

D. His/her own responsibilty

E. Art

Choose the correct answer from the options given below:

1. A Cand D only.
2.C, Eand A only.
3.B, A and C only.
4. A Eand D only.

1) 1
(2) 2
3) 3
(4) 4




AEY® TRl © UGk & 984 J U6 UFHR & UMY 3a1 el 943 81 dfeU ;
A. Tifdg

B. gl

c. i a-®

D. S(UHT fogRT

£ @l

i feu 7 fadhedi H U Ugl IR 94 -
1.A CD
2.C,E A

3.BAC
4.4 ED

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32205] Question Description : dwbv_pg_mcj_eng_2_q76
2[Option ID=32206]

3[Option ID=32207]
4[Option ID=32208]

Sl. No.77
QBID:63077

Arrange these films in chronological order:

A. Naya Daur

B. Kagaz Ke Phool

C. Do Beegha Zameen

D. Madhumati

E. Gharana

Choose the correct answer from the options given below:

1.A B, CDE
2.CADBE
3.BADEC
4.D,C A B E

1)1
(2) 2
(3) 3
(4) 4




e @I BId HHER aieyd Biferg?
A TETER

B. BT & Ba

C. &l e S

D. AYHAT

E. WRMI

o fGu U fodheal 3 9 98 S g -
1.A,B,C D E
2.C,ADBE

3.BADEC
4.D,C A B E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32209] Question Description : dwbv_pg_mcj_eng_2_q77
2[Option ID=32210]

3[Option ID=32211]
4[Option ID=32212]

Sl. No.78
QBID:63078

Identify the correct sequencing of foundation of these mass communication platforms:

A. Youtube

B. Netflix

C. Whatsapp

D. Google

E. Telegram app

Choose the correct answer from the options given below:

1.ACBED
2.B,DACE
3.ABCED
4.B,CADE

1) 1
(2) 2
3) 3
(4) 4




SHER QYA & Ge! WA HH i gd dIfeg?
A g &d
B. 7< foaag
C. Feauy
D. A
E. ST T
i feu 7 fadhedi H U Ugl IR 94 -
1.A, C B ED
2.B,D,ACE
3.A B CED
4.B,C,A D,E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32213] Question Description : dwbv_pg_mcj_eng_2_q78
2[Option ID=32214]

3[Option ID=32215]
4[Option ID=32216]

Sl. No.79
QBID:63079

Arrange the following Newspapers in chronological order:
A. Jansatta

B. Mail Today

C. Enadu

D. The Telegraph

E. Economic Times

Choose the correct answer from the options given below:

1.EC, D AB
2.B,CDEA
3.ABECD
4.C,D A BE

1) 1
(2) 2
3) 3
(4) 4




THER U @l SIAHHNER dayd $IfT |
A, SR
B. AT S

C.3g
D. G cOIT®H

E. SHMIHE <3

i feu 7 fadhedi H U Ugl IR 94 -
1.EEC D, A B
2.B,C,D,E A

3.ABECD
4.C,D A BE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32217] Question Description : dwbv_pg_mcj_eng_2_q79
2[Option ID=32218]

3[Option ID=32219]
4[Option ID=32220]

Sl. No.80
QBID:63080

Arrange these newspapers-magazines published by Department of Publications in chronological order:

A. Kurukshetra

B. Employment News

C. Yojana

D. Bal Bharati

E. Aajkal

Choose the correct answer from the options given below:

1.ED,ACB
2D ECAB
3.B,D.EAC
4.4 EDCE

1) 1
(2) 2
3) 3
(4) 4




UHRA [aHFT 4 FdeH ald Ua-uEaTs @f Slasd-uR aiyd Sifu|
A BEET
B. AR FHER
C. giH
D. &Td HRdl
E. HFSTha
i< f&U 70 fadedl § 9 98 S I -
1.E,D,A CB
2.D,ECAB

3.B.D.EAC
4.AED CB

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32221] Question Description : dwbv_pg_mcj_eng_2_q80
2[Option ID=32222]

3[Option ID=32223]
4[Option ID=32224]

Sl. No.81
QBID:63081

Arrange the following newspapers and magazines chronclogically:
A. Bombay Samachar

B. Samachar Darpan

C. Samvad Kaumdi

D. Mirat-ul-Akhbar

E. Bombay Herald

Choose the correct answer from the options given below:

1.EC, D B A
2.D, B CAE
3.D,C A BE
4. EBCDA

1) 1
(2) 2
3) 3
(4) 4




UA-UH@1 BT BIAHHER HaRyd Hifad |
A. ST FHER

B. THER &Y

C. garg »Igdl

D. fiRd-3a sr@eR

£ T B

<< feu 7Te fadeal 5 9 98l SR 9 -
1.E,C,D,B,A
2.D,B,C AE

3.0,CABE
4. EBCDA

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32225] Question Description : dwbv_pg_mcj_eng_2_q81
2[Option ID=32226]

3[Option ID=32227]
4[Option ID=32228]

Sl. No.82
QBID:63082

Identify the chronological order of communication model:
A. Shanan-Weaver Model

B. Hyperdermic needle Model

C. 5-M-C-R Model

D. Helical Model

E. Gerbner's Model

Choose the correct answer from the options given below:

1.B,AECD
2.BCAED
3.ACDEB
4. AEDCE

(1) 1
) 2
3) 3
4) 4




HaR Higd & Hel BIdHA DI Ugd- iU

A U dleR Hizd

B. ERRSH® Agd Alsd

C. TH-TH-U-3R Aisd

D. gfcide AlST

£ TTER Al2d

i< TeU 71Q fadhedl # U el IR 44 -
1.B,AECD
2.B,C,AED

3.ACDEEB
4.AED CB

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32229] Question Description : dwbv_pg_mcj_eng_2_q82
2[Option ID=32230]

3[Option ID=32231]
4[Option ID=32232]

Sl. No.83
QBID:63083

Identify the chronological order of Press Act

A. Contempt of Court Act

B. Prasar Bharti Act

C. Cinematography Act

D. TRAI

E. Copyright Act

Choose the correct answer from the options given below:

1.C,EABD
2.CBDAE
3.ACBED
4.4 D B CE

1) 1
(2) 2
3) 3
4) 4




U AfUfgH & I8 dIa$d B UgdH DIt :
A, T HIEHAT AT
B. TR YRl &g

C. g=Eem! e

D. 2% (@1 3R T 315

E. HIURIEe ffifag

3 e Y e A A W SR -
1.C,E A BD
2.C,B,D,AE

3.ACBED
4.4 D B CE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32233] Question Description : dwbv_pg_mcj_eng_2_q83
2[Option ID=32234]

3[Option ID=32235]
4[Option ID=32236]

Sl. No.84
QBID:63084

Arrange in chronological order of these events of All India Radic:
A. First FM service of ALLR

B. Vividh Bharati service started

C. First Local Radio Station started

D. National Public Service Broadcasting day declared

E. Prasar Bharti Corporation came into existence

Choose the correct answer from the options given below:

1.BA,CED
2ZACEDB
3.A.B,CDE
4B, A CDE

1)1
(2) 2
(3) 3
(4) 4




3HTa 25T el (@ oM. 3R) ¥ gafdd Fofeiad geis & 9gl @aed o afeyd S|
A. T 35, 3R, B UYH U, UH. 9al

8. fafger YR a1 SR 58

C. WY R ST T-H SRR g3l

D. T4 @ik Tl THRYT feas w1t foar

E. TER HRA! A i@ H ol

i< feu 7Tu fasedl § 9 98l SR 9 -

1.BA CED
2ZACEDB
3.A.B,CDE
4B, A CDE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32237] Question Description : dwbv_pg_mcj_eng_2_q84
2[Option ID=32238]

3[Option ID=32239]
4[Option ID=32240]

Sl. No.85
QBID:63085

Given below are two statements:

Statement I: It is the duty of the press to respect the right of privacy of a person.

Statement II: The right of privacy has been specifically defined in the constitution of India.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
(3) 3
(4) 4

EIERAR R E AT
HY - | : TG B FIoid1 B PR BT THH B U BT Had gl
FY - 11 : HRd & Sy | Foal & SfieR o fa9w w9 9 gyt fear mn gl
Iudad dyHl @ aie | FafaRad fGeddl § 9 98 3o g -
1. BT 1 AR 1 SHT I '
2. YA | AR 11 GFT AT B
3. @Y 1 qd e, g @y 1 TTad & |
4. | 3T T, g o 1 T B

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=32241] Question Description : dwbv_pg_mcj_eng_2_q85
2[Option ID=32242]

3[Option ID=32243]
4[Option ID=32244]

Sl. No.86
QBID:63086

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Narrative analysis is the analysis of the formal properties of stories that people tell and the social role that
stories plays.

Reason (R) : It plays specific attention for how stories play and over time and how events are sequenced from beginning to
end.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

OR!
(2) 2
3) 3
(4) 4

T Y CUU G : Ud &l HUSHYA (A) R g8 DI dd (R) el 8|

HIYGHYA (A) : HRAFURS [GRNUI DTl B AUID [GR9dre BT =iy g, Sl aill @I deri o GrHlfed YHST & ar
H |

T (R) : T8 594 A= Yffe Furdr & & S od 999 & I TRa-63-URd J1S Tl 8 3R 9e-1d IR ¥ 3id 7@ Hia®
&Y 4 gedl Yedl 8l

SUddd YAl & HTdld | FHifdd [dbedl # 4 Wel 9k 9 -

1. (A) 3R (R) SF 91 € 3R (R), () P! TEl ARAT B |
2.(A) 3R (R a‘ﬁm@%uﬁ )ﬁ'ﬂﬂé‘lqua“f%l
3. (A) WBI 8 IR R}ﬂ%ﬁﬁ%‘l
4. (A) WEI T8 8 U3g (R) WEI &
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=32245] Question Description : dwbv_pg_mcj_eng_2_q86
2[Option ID=32246]
3[Option ID=32247]
4[Option ID=32248]

Sl. No.87
QBID:63087




Arrange in chronological order:

A. Introduction of Political Party Broadcast in India.

B. First TV station in Delhi started.

C. Commercials on Vividh Bharati started.

D. Introduction of National Channel of A.LR.

E. First Radio Sangeet Sammelan held.

Choose the correct answer from the options given below:

1.A, B, CDE
2.ACBED
3.EBCAD
4.ECEDA

(1) 1
(2) 2
(3) 3
(4) 4

Fufciiad o BIAPHTYR HaRYd Hifa :
A, HRT H TSI & B TR B 3R §3M
. Teredl # Wy 21, d1, TIH SRY gafl

c. fafdy yRdl w Do iy gu

D. . 3713, 3R, & TP T7d BT RY g3l

E. UyH &g Tifta e Sl faan
il feu e faseul 5 9 98l I g -

1.ABCDE
2.ACBED
3.EBCAD
4.ECBDA

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32249] Question Description : dwbv_pg_mcj_eng_2_q87
2[Option ID=32250]

3[Option ID=32251]
4[Option ID=32252]

Sl. No.88
QBID:63088




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The F test for analysis of varience is conceptually simple and computationally complex.

Reason (R) : The Anova test for relationship among two or more groups but it is still not a simple analysis of varience in
that it is not exploring the relationship between variables.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

1) 1
() 2
3) 3
4) 4

T FFE RUTT: & 3 HiEHY () IR TR B d6 (R) Tl T &
SHUHYF (A) : TR & [T & [T U T AHTURUTHES &4 I HIHRU R YRS &4 4 dled gl

(R) : TG <€ &l A1 ¥ GHEl & g G4 & [oU gidT ¢ i gg o ol 39 o1 o R &1 ARy fa=eivor =81 g, |ifds
T8 T & a1 Y B TGV el B 3

U DYl B e | Fgifed ol § 4 98l SR 9 -

1. (A) 3R (R) THI W51 § 3R (R), (A) P Tel ARBAT & |
2.(A) 3R R aﬁfﬂﬁ%mﬁ )Eﬁﬂﬁﬁ@ﬂﬁ%l
2. (A) HEI B U R}ﬂ%ﬁ‘ﬂiﬂ%l
4. (A) HEI T2 8 I (R) HE1 B
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=32253] Question Description : dwbv_pg_mcj_eng_2_q88
2[Option ID=32254]
3[Option ID=32255]
4[Option ID=32256]

Sl. No.89
QBID:63089

Given below are two statements:

Statement I: To plant political news, public relations companies are contacted.

Statement II: It can be easily speculated about the credibility and importance of the source in the world of news.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
3) 3
4) 4




AR sy kT E:
DY - | - oD Gal Bl @I B & (O -GS -l F F0d Qe il 5
TYA - 1 FERI DI AT H A B AT 3R AEHad T 3T Sedl U § O El o 96l ¢
SUge Pyl B e H FEiaRad Geed 9 98 I g -
1. @Y | 3R 1 S el B
2. YA 1 3R 1 G Tad & |

3. ®UT1 90 8, Fg sy a2 |
4. Y| A B, g IYF 1 98T B

1)
(2)
(3)
(4)

A W N R

1[Option ID=32257] Question Description : dwbv_pg_mcj_eng_2_q89
2[Option ID=32258]
3[Option ID=32259]
4[Option ID=32260]

Sl. No.90
QBID:63090

Given below are two statements:

Statement l: it is increasingly clear that media and culture today are of central importance to the maintenance and
reproduction of contemporary societies.

Statement II: Hegemony is the process by which one idealogy subverts other competing ideologies and gain cultural
dominance through the won consent of the dominated.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N =

IR TR A =

DY - | : U8 UGBTI g I WY ¢ fdb g H11Sa1 IR Tepid YHBIH- FHISH B §-1Y 36 R GTSde & ol b=
Y Y Hgayul g |

HU - 1| - AT U UL Ufehan &, Forgs v [GaRYRT 3/ ufaeasl faaremrsi &1 7y &l § 3R W8 & 35 |4 ard
TR G Sidl T8 Gedd & A1 I Jiepfam WHdl U &1 oirdl g |

Iuge Pyl & e H HgfaRad Geedl § 9 98 3o g -
1. % 1 3R 1| GH 91 B
2. % | AR 1 S TTEd 2
3.9 190 8, g @y 1 TTad g |
4. Y| A B, TPg HYF 1 98T 31

1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=32261] Question Description : dwbv_pg_mcj_eng_2_q90
2[Option ID=32262]
3[Option ID=32263]
4[Option ID=32264]

Sl. No.91
QBID:63091

Read the following passage and answer the following questions that follows:

We are living amidst the fallout of the most controversial conflict of our times, where media plays a vital role with greater
responsibility and can affect the public discourse on international politics, economy and society at large. Media are free to
criticise established institution. They assist the process of self-examination, which is essential to self-governance. Disasters
like armed conflict and internal violence, Naxalites problem, communal problems, have often emanated from the unjust,
irresponsible, deviated and propagandist winds and waves of media, be it imperial hegemony, secessionist warfare or
conversely, unexpected drift of regional civil violence based on caste, creed and religion for liberty, justice, independence or
fanatical terrorism. The blatantly biased reporting by media by and large has not shown a high degree of social responsibility
during the recent international conflicts like Iraq Iran war, Kuwait crisis, 9/11 attack, was on terrorism, war on Afghanistan and
Iraq and also our own internal communal outbursts over the usually Ram-Janmabhumi controversy, Bombay blast etc. Media
is being used as a battle ground for political frustration, imperialistic hegemony, human right violation, invasion of
sovereignty and privacy, regional and racial violence, smearing of reputation and practicing of deception and exploitation.
The role of visual and print media in covering the events, and the response of civil society organisation has been a matter of
great concern.

FrafafEs merie 1 03 ok 59F a1 Uy T 91 ¥ 95 9% F I S|

TH A0 999 & T84 §5 [JaIGRUG cHd & GR | I8 16 o, foras Aifsar fie MER! & 9 TF deayd YfE® Fur §
3R T8 AW AsHIT, Siera®y R s TU Y TAY & 98y H Al 1578 B JHIfed 3 96l 8|

TR Gy 7R SHTaR® (g, Aaadle &1 GHwl, Qe SHrs ol HIUe Uh: Hifear o =y, TR-fSer], gyyup
g3 AR GWER & Gadl SR UHd U 3@ gl &, (R 918 d¢ SeeadIal HAfUud, gudbdrsl 46 ol 41 39 [qudid saadl, <M,
I T SHG] SAdparg B g Sfifd, T 3R oH & YR R &A-ARS 6 ST 2R Uiid god 6| SUD-33H I,
$dd IPH< 9/11 §HT, DG G891 4, ABIRA AR 3370 I 99 819 & WP 9ol & SR 3R IH FH4fH &4,
TrEs 99 [GEpie ¥, g SffdRe ameias 3= § f difsa gR1 Qo™ gaagyt Raifda 7 age ® 9 ¥ g
Jaelld & 3o &R B I8! a2l 51 sy &1 Um: W Ie-fae FRn, Sersgard! g, 99 HfUeR & I,
Tyl SR Feidl U TeHY, &E1Y SR iy (@91, A4 @d B 3R dUe aul AW - & UP g% d & ©U H faar o
BT &1 UeAl B Har 3 H 9 SR g1 HifEar & YHe! SR 319 GH9 §7164 ®1 39 R Ufdfsar safie fid & faua g

As per above paragraph, the role of media is:

1. Activists

2. Pro Activists

3. Peace Activists
4. None of these

(1) 1
(2) 2
(3) 3
(4) 4




Iqdd R & HJUR HITSaT & Y [6d UeR 3 8-

1. Bl

2. Oftpg Hdd

3. TN d®dl

4. 3UYa H U Bg Tl

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32265] Question Description : dwbv_pg_mcj_eng_2_q91
2[Option ID=32266]

3[Option ID=32267]
4[Option ID=32268]

Sl. No.92
QBID:63092

Read the following passage and answer the following questions that follows:

We are living amidst the fallout of the most controversial conflict of our times, where media plays a vital role with greater
responsibility and can affect the public discourse on international politics, economy and society at large. Media are free to
criticise established institution. They assist the process of self-examination, which is essential to self-governance. Disasters
like armed conflict and internal violence, Naxalites problem, communal problems, have often emanated from the unjust,
irresponsible, deviated and propagandist winds and waves of media, be it imperial hegemony, secessionist warfare or
conversely, unexpected drift of regional civil violence based on caste, creed and religion for liberty, justice, independence or
fanatical terrorism. The blatantly biased reporting by media by and large has not shown a high degree of social respensibility
during the recent international conflicts like Iraq Iran war, Kuwait crisis, 9/11 attack, was on terrorism, war on Afghanistan and
Iraq and also our own internal communal outbursts over the usually Ram-Janmabhumi controversy, Bombay blast etc. Media
is being used as a battle ground for political frustration, imperialistic hegemony, human right violation, invasion of
sovereignty and privacy, regional and racial violence, smearing of reputation and practicing of deception and exploitation.
The role of visual and print media in covering the events, and the response of civil society organisation has been a matter of
great concern.

frrafaf@a mere $1 1 ofR 39% 918 Uy U&= 91 ¥ 95 9% & I9X S|

TH 30 T & Ta 5 [AaIGRUG ald & SR H 38 W6 o, forad Hifsar sifie fert & 9 U Agayyl Hfier i §
3R g8 SHRRIPI AT, rfeuawl R U U U §A & Hay J die fawel o1 uHifad & gl 8|

TR oy 3R SHiaR® (g9, AaIade &1 GHwl, TG SHers ol HIUed urg: Hifear & Sy, TR-fEeR], gyyp
§% IR GUAR & Gadl 3R THTEl U 3 il o, [t dle de WTegarsl 10, ydarg) 3 of 91 39& [ausid Waaadl, 4,
A A1 I Sffdears & T Siifd, Ty 3R 4 & STUR TR &G-S 61 &1 3R AUAMd Ford 8| 337533 I,
Pdd IPH< 9/11 BHT, AMHaG a9l I, HBIE AR 370 IZ W4 519 & SfRIP 9l & SR R IH FHYH 74T,
Ty 99 [9EpIe H, §AR SfidRe UMIeids 391G J Hi Hifsal gR1 Qo™ Gauayu RUiid § us ©U § JAisD
JaaGlidd & 3= TR DI A5l GGl g1 HISAT &I Uk: WA AT FRI=N, Seredardl Sy, HiFd SHHaRT & Jeeu,
Tyl SR el U TehHy, &1 SR iy @9, 9 @d B R dUe aul A6 & & UP < d & ©U H fadr o
BT &1 UeAmel B Hax @3- H exg AN g1 HifEar &1 YHe! R 939 999 97164 &1 39 R Ufalsar safde fid & faua 8|

Media are free to critise because they have right given by

1. Constitution of India

2. Article 499 of IPC

3. Books and Press registration Act
4. Right to Information Act




1) 1
(2) 2
(3) 3
(4) 4

Hifsar a1 &3 & AU W & Jife 34 Fufatad gr1 ¥eR G &

1. HRd & Hidu

2. HRA1G &8 digdl & 3{w5g 499
3. Qad Ud U Yefiarur sifufga
4. 1 1 TSR -

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32269] Question Description : dwbv_pg_mcj_eng_2_q92
2[Option ID=32270]

3[Option ID=32271]
4[Option ID=32272]

Sl. No.93
QBID:63093

Read the following passage and answer the following questions that follows:

We are living amidst the fallout of the most controversial conflict of our times, where media plays a vital role with greater
responsibility and can affect the public discourse on international politics, economy and society at large. Media are free to
criticise established institution. They assist the process of self-examination, which is essential to self-governance. Disasters
like armed conflict and internal violence, Naxalites problem, communal problems, have often emanated from the unjust,
irresponsible, deviated and propagandist winds and waves of media, be it imperial hegemony, secessionist warfare or
conversely, unexpected drift of regional civil violence based on caste, creed and religion for liberty, justice, independence or
fanatical terrorism. The blatantly biased reporting by media by and large has not shown a high degree of social responsibility
during the recent international conflicts like Iraq Iran war, Kuwait crisis, 9/11 attack, was on terrorism, war on Afghanistan and
Iraq and also our own internal communal outbursts over the usually Ram-Janmabhumi controversy, Bombay blast etc. Media
is being used as a battle ground for political frustration, imperialistic hegemony, human right violation, invasion of
sovereignty and privacy, regional and racial violence, smearing of reputation and practicing of deception and exploitation.
The role of visual and print media in covering the events, and the response of civil society organisation has been a matter of

great concern.

PrafufEe T 31 03 o s9F a1 Uy 9= 91 ¥ 95 99 & I9% S|

B AT T & Uad 93 [JaGRIE emid & R § W8 36 6, foreH Hifsar e el & 9 U@ deayyl i@ Fyd 3
37R T8 SfRIPT s, SRieuawyl 3R s U ¥ FAW & S84 H Tie 158 B JHIed 3 F6dl 8|

TR TIY R effaie G, Taaare ®f To=, Teiis T ol e ue: Hifsa & o=y, TR-FeR), gyyy
g3 R GUER & gadl SR Ul U 3O Bl &, (R 918 d¢ SHieadIal Hiiud, gudbdrsl 3G ol 41 39 [audid saadl, <M,
I 1 SHG] SAdparg & g Sfifd, T 3R o & YR TR &E-ARS 6 31 2R UiRid Fod 6| SUD-33H IS,
$dd IH< 9/11 §HT, DG G441 G, BRI AR 30 I 99 519 & fTWIPH ol & R R IH w4y &g,
T 9F [Gepie 4 gAR fidie gt 3+ | W Jifeg gR1 gos™ vauagul RuifdT 4 @de 9 4 9Hifee
JaReld & I &R B o] auil 7| WSy &1 Um: TN Ie-iae FR, Seregard! g, 9 HfeRl & I,
U 3R Fo7dl W SATHAY, &A1Y 3R TAY 691, 7 @E 53 AR $UC 91 A A & Uh s il & &4 H far o
T &1 UeAsHl Bl Har B3 H g SR g1 Hii$ar &1 YHe! SR 31y GHS §164 ®1 39 R Ulalsar siafie fid o faua g1




Role of Media in society is a

1. Creator of news
2. Watch dog

3. Criticizer

4. Self examiner

(1) 1
) 2
3) 3
(4) 4

T | Hitsa @1 BH-a Y g

1. AR gt
2. Ugd

3. AAE®

4. @-Sra®al

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32273] Question Description : dwbv_pg_mcj_eng_2_q93
2[Option ID=32274]

3[Option ID=32275]
4[Option ID=32276]

Sl. No.94
QBID:63094




Read the following passage and answer the following questions that follows:

We are living amidst the fallout of the most controversial conflict of our times, where media plays a vital role with greater
responsibility and can affect the public discourse on international politics, economy and society at large. Media are free to
criticise established institution. They assist the process of self-examination, which is essential to self-governance. Disasters
like armed conflict and internal violence, Naxalites problem, communal problems, have often emanated from the unjust,
irresponsible, deviated and propagandist winds and waves of media, be it imperial hegemony, secessionist warfare or
conversely, unexpected drift of regional civil violence based on caste, creed and religion for liberty, justice, independence or
fanatical terrorism. The blatantly biased reporting by media by and large has not shown a high degree of social responsibility
during the recent international conflicts like Iraq Iran war, Kuwait crisis, 9/11 attack, was on terrorism, war on Afghanistan and
Iraq and also our own internal communal outbursts over the usually Ram-Janmabhumi controversy, Bombay blast etc. Media
is being used as a battle ground for political frustration, imperialistic hegemony, human right violation, invasion of
sovereignty and privacy, regional and racial violence, smearing of reputation and practicing of deception and exploitation.
The role of visual and print media in covering the events, and the response of civil society organisation has been a matter of
great concern.

FrrafafEa Terw 1 1 iR 39 918 Uy W= 91 ¥ 95 9% & I9Y S|

T H0- U & US4 §5 [AaIGRUE ead & GR T IE 36 o, forad Hifsar #fie et & U UF deayd Y@ Furi §
3R T8 AW AsHIT, Sera®y 3R s TU U TAY & S8y H Al 1578 B JHIfed 3 F6dl 8|

TR Gy 7R SHTaR® (g, Aaadle &1 GHwl, Qe SHrs ol HIUe Uh: Hifear o =y, TR-fSer], gyyup
g3 AR GWER & Gadl R UHE U 3@ gl &, (R 918 d¢ eeadIal HUud, gudbdial 46 ol 9 39 [qudid saadl, <1,
WA I IHG] SAdparg B g Sfifd, T 3R oH & YR R &EA-ARS 6 ST 2R Uaiiid god 6| SU5-33H I,
$dd GH< 9/11 BHT, SAdPdIe a9l 4, B 3R 330 45 99 819 & WP Tusi & R 3R IH FHYH &g,
TrEs 99 [GEpie ¥, g SffdRe ameias 3= § f difsa gR1 Qo™ gaagyt Raifda 7 age ® 9 ¥ g
Jadalidd & 3o TR DI T8I ST 5| HISTT BT Uh: WG As-idd FRI20, THTFarel SMiayd, HFd HUERI & Jeod,
Oyl SR Feidl W SIehHb, &E1Y SR iy @91, A9 @d B 3R dUe qul AW - & UP < d & ©U H faar o
1 &1 UeAl Bl Har @3- H 9 SR g1 HifEar & YHe! R 319 909 §7164 ®1 39 R Ufalsar safie fidl & faua g

When the role of responsible media is expected ?

1. At the time of cultural programme
2. At the time of terrorist attack

3. At the time of development news
4. At the time of political rallies

(1) 1
2 2
3) 3
(4) 4

IR Hifsal &1 yfH® B IEle da B Hldl 8-

1. Giepia® HAHH & 994G
2. Hd@mare! gd & 9rg

3. famg e TRl & 999
4. Ieifae ol & 9

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=32277] Question Description : dwbv_pg_mcj_eng_2_q94
2[Option ID=32278]
3[Option ID=32279]
4[Option ID=32280]

Sl. No.95
QBID:63095

Read the following passage and answer the following questions that follows:

We are living amidst the fallout of the most controversial conflict of our times, where media plays a vital role with greater
responsibility and can affect the public discourse on international politics, economy and society at large. Media are free to
criticise established institution. They assist the process of self-examination, which is essential to self-governance. Disasters
like armed conflict and internal violence, Naxalites problem, communal problems, have often emanated from the unjust,
irresponsible, deviated and propagandist winds and waves of media, be it imperial hegemony, secessionist warfare or
conversely, unexpected drift of regional civil violence based on caste, creed and religion for liberty, justice, independence or
fanatical terrorism. The blatantly biased reporting by media by and large has not shown a high degree of social responsibility
during the recent international conflicts like Iraq Iran war, Kuwait crisis, 9/11 attack, was on terrorism, war on Afghanistan and
Irag and also our own internal communal outbursts over the usually Ram-Janmabhumi controversy, Bombay blast etc. Media
is being used as a battle ground for political frustration, imperialistic hegemony, human right violation, invasion of
sovereignty and privacy, regional and racial viclence, smearing of reputation and practicing of deception and exploitation.
The role of visual and print media in covering the events, and the response of civil society organisation has been a matter of
great concern.

Frafufad T o 03 ok S5 a1¢ Uy &1 91 | 95 9% & Iw¥ S|

B 0 T & U9Y 9o [Aaerug edhid & R 1 8 T o, forad difsar ¢ fawierl & Oy U@ Ay i fFurd 8
3R 98 AP THIf, 2rferawy 3R e ®U ¥ 969 & 99y H die 3 ol yyifad 2 9&dl 81

TIRA Y AR ffae G, TaRIadls ® So, SEEid SHie ol e Ud: Hifsal & =gy, TR-HeER], 7yyy
T3 IR G8MAR @ Gama! 3R THEl U 394 §idl ¢, MR 915 de Uiereadral Hfiud, gydarg! 3 of 41 54 fauld s, <,
=T g1 S STdhare o Y oifd, Uy 3R o & TR R &E0-ANRS 681 B 3R WIRId Fbid 811 Th-33H I,
Pdd YT 9/11 BHT, DG Hdell G, ABIRA AR 33706 I W8 51 & P Fuwi & R 3R I Syf g,
T oF [aepie § gAR sfide Iecite 3=e H 1 Hifgg gR1 gds™ vauagul RUifdT 4 ade 9 4 9Hifed
JANGIIE & I TR DI A2 gR1 8| S &1 um: van Aefas FR1Rn, Il 1fiud, §Ha SiERT & I,
YT SR a1 R 1A, &g SR TA1g B9, T SE B3 3R $Ue 991 W60 T3 & U6 Js & & ©9 | ol off
BT &1 Te1efl B Hax @i J x4 AR gx0 Hifsar & YHeT SR 917 90 97164 @1 39 W Uiaknar srafie fid & faua g1

Media are free to:

1. Criticize
2. Promote
3. Support
4. Withdraw

1) 1
(2) 2
3) 3
(4) 4




Hifsar Fofefas o 3 feue fow wda g-
1. A B
2. Hada
3. g
4. qOE TH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32281] Question Description : dwbv_pg_mcj_eng_2_q95
2[Option ID=32282]

3[Option ID=32283]
4[Option ID=32284]

Sl. No.96
QBID:63096




Read the following passage and answer the following questions that follows:

Acharya Abhinav Gupt can be regarded as Abhinav Vyas for synthesizing the various streams of knowledge, their collection
and orderly editing them. At one time, Maharshi Vedvyas had collected the available knowledge and edited in well-orderly
manner. This edited work proved so much important that even in the most adverse period, Indian culture used to get vigour
and maintain its continuum. Though Maharshi Vedvyas is regarded as writer of Mahabharata and Puranas, but he classified
them into four parts to relatively make the Ved Vidya easier. Maharshi Vedvyas is given credit for converting the oral
traditions of Indian culture into written traditions. He did this editing work systematically keeping in mind the psychological
tendencies and limitations. While writing Puranas, he demonstrated clear psychological understanding of the subject. He
wrote 18 Puranas to feel the singular element by the people of various sects. Various Puranas were prepared for the different
tendencies of Bhakti Marg, Jnan Marg and Karm Marg.

For the synthesis of available streams of knowledge and communicate them in natural way, Mahabharata is the best
example. In this text, the process of totality and synthesis was so much accurately expressed that it was confidently said that
Mahabharata depicts all the tendencies of the world and if any tendency was not covered, it was difficult to find elsewhere.
Therefore, while acclaiming Vyas it is said- “Dharme ch arthe ch Kame ch moksha Bharatarshabh. Yadihasti tadenyatra
yannehasti na tat kwachit.” (The Knowledge, related to quadruple effort of life which is available elsewhere. The knowledge,
which is not available in Mahabharata, it will not be found elsewhere.

Maharshi Vedvyas codified systematically the Sanatan knowledge according to the attitudes. This codified knowledge
became the source of nectar. While classifying the categories of Sanatan knowledge, Maharshi Vedvyas kept intact the
civilizational stream of India for the cultural system. Due to this classification of knowledge, the tendency of specialization led
the scholarly world and get rid of the attitude of some learnings. Due to the interest and specialization, Indian intellectual
community became active and touched the new highs. In the field of knowledge, specified experiments were promoted and
hundreds of other sects emerged.

FrafafEa T $1 u3 ok 59F 918 Uy &I 96 ¥ 100 9% F I S|

HEH YT T &l 49 & [ 4RI & Y0, 39 GUgUl iR Aaieyd UG- & U iiH—d o9 &I U1 &l & gl
21 Tt el deauy 3 Suas I & TUfRd B 3G Haiyd Yuie a1 ol 98 Juie- 1 a1 S8y gifed gai f&
fudia grarafy # off YR TEpfa U8t ¥ 99 U $d! W 3R 304 I19d $f §91U 1@ 98T | HEfY deay &1 #eIRd 3R
RV &1 TR of AT & ol §, S6i- a6 e & HUTEHd Tew a4 & [01Y SU@! IR YR H e of fsan

e decu &I YR Yhid & Hia® W1 ®I Ud g6 ab (dikdd UIWRT H SUrIRd 3 &I 49 g1 o1dr g1 3%iH 39
Hga Ul dd &I HUIGA A-ldsili-d Ugidl SR s of @ H Wad gu dgd goadiyd i d gl QRIvl @f To-1 3 dl gHd!
frufa FHiam® 999 &1 9gd WF ©U 9 &3 8id1 31 TP ¢ o @ [afdy UgRl & Qi & S & & [T 31 18
R0 @t T @1 | yfga Al 9 9nf oiR & anf &t s e vafd! &1 Oqp B3 & o gy gn &1 @ @1 TS

JUTe I YRS & T AR 3¢ oo ©U U T3td B3 @1 (0¥ o T4 991 3eeRU TR &1 39 9~ o Trguidr SR
T=IUUT B Uichal 3a- Uid &3 U SHicHad §s © 1o 9gd HUBR & WY ol o ol b HetHRd H UOR & 9 yghml &
G 8l 9Id § ¥R UG @ig UGl Jel A8l & dl SU®GI UER H 307 G2 gHI Hf¥ohd ol g SUIley oM @i UiaHl &1 &fd &d
§U Bl Ml § [

o 9 % 9 & 9 Wy YRavY | 3fEe de=ud geEIR 1 aq Siadl |

(oliaH & Idfdy GouTdl U Ts= W ardl ol $8 JH HeHRT H 8, 981 304 g1 ol ‘HeIHRT H 981 §, 98 399 $al i el
i@

g deaiy - 9G4 9F &I B9l @ HTER aiyd 4w | digdes fean a8 dfearesor 99 & W0 AR 9ad9 &
41T 3pa &1 i &9 11 T 9F @1 ATl § faford a3 Feft daa A HIRd 31 URIarTd YRT S &0 S 384 31
P iad awT 1 I7d 34 FH UGS & SRU R fagd o7d # =ugar &1 yaf 3 &4 o oIk vd oo d9ked &
TG O GebrT i B SR faRmsiar &f ®H e & SR YR siied o H 3 Iichar 3 o o iR fiaq & T
RRaR &t T g5 1 310H T &7 H fafRiy i &1 e @ derdl e 3R 39% SR Ue 47 fagiw O favidieru &t d@st o
TrErHt = 5 fern




Which riddles were solved by Acharya Abhinav Gupt?

1. Various streams of knowledge
2. Culture

3. Psychological process

4. None of these

(1) 1
) 2
3) 3
4) 4

Hrard 21fiFa Ta | 4 1 o ge=mnr

1. faftrs 9 YR

2. G5pf

3. FAlATIHS Ul
4. TRGEH Y1 Tal

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=32285] Question Description : dwbv_pg_mcj_eng_2_q96
2[Option ID=32286]

3[Option ID=32287]
4[Option ID=32288]

Sl. No.97
QBID:63097




Read the following passage and answer the following questions that follows:

Acharya Abhinav Gupt can be regarded as Abhinav Vyas for synthesizing the various streams of knowledge, their collection
and orderly editing them. At one time, Maharshi Vedvyas had collected the available knowledge and edited in well-orderly
manner. This edited work proved so much important that even in the most adverse period, Indian culture used to get vigour
and maintain its continuum. Though Maharshi Vedvyas is regarded as writer of Mahabharata and Puranas, but he classified
them into four parts to relatively make the Ved Vidya easier. Maharshi Vedvyas is given credit for converting the oral
traditions of Indian culture into written traditions. He did this editing work systematically keeping in mind the psychological
tendencies and limitations. While writing Puranas, he demonstrated clear psychological understanding of the subject. He
wrote 18 Puranas to feel the singular element by the people of various sects. Various Puranas were prepared for the different
tendencies of Bhakti Marg, Jnan Marg and Karm Marg.

For the synthesis of available streams of knowledge and communicate them in natural way, Mahabharata is the best
example. In this text, the process of totality and synthesis was so much accurately expressed that it was confidently said that
Mahabharata depicts all the tendencies of the world and if any tendency was not covered, it was difficult to find elsewhere.
Therefore, while acclaiming Vyas it is said- “Dharme ch arthe ch Kame ch moksha Bharatarshabh. Yadihasti tadenyatra
yannehasti na tat kwachit.” (The Knowledge, related to quadruple effort of life which is available elsewhere. The knowledge,
which is not available in Mahabharata, it will not be found elsewhere.

Maharshi Vedvyas codified systematically the Sanatan knowledge according to the attitudes. This codified knowledge
became the source of nectar. While classifying the categories of Sanatan knowledge, Maharshi Vedvyas kept intact the
civilizational stream of India for the cultural system. Due to this classification of knowledge, the tendency of specialization led
the scholarly world and get rid of the attitude of some learnings. Due to the interest and specialization, Indian intellectual
community became active and touched the new highs. In the field of knowledge, specified experiments were promoted and
hundreds of other sects emerged.

FrafafEa T $1 u3 ok 59F 918 Uy &I 96 ¥ 100 9% F I S|

HEH YT T &l 49 & [ 4RI & Y0, 39 GUgUl iR Aaieyd UG- & U iiH—d o9 &I U1 &l & gl
21 Tt el deauy 3 Suas I & TUfRd B 3G Haiyd Yuie a1 ol 98 Juie- 1 a1 S8y gifed gai f&
fudia grarafy # off YR TEpfa U8t ¥ 99 U $d! W 3R 304 I19d $f §91U 1@ 98T | HEfY deay &1 #eIRd 3R
RV &1 TR of AT & ol §, S6i- a6 e & HUTEHd Tew a4 & [01Y SU@! IR YR H e of fsan

e decu &I YR Yhid & Hia® W1 ®I Ud g6 ab (dikdd UIWRT H SUrIRd 3 &I 49 g1 o1dr g1 3%iH 39
Hga Ul dd &I HUIGA A-ldsili-d Ugidl SR s of @ H Wad gu dgd goadiyd i d gl QRIvl @f To-1 3 dl gHd!
frufa FHiam® 999 &1 9gd WF ©U 9 &3 8id1 31 TP ¢ o @ [afdy UgRl & Qi & S & & [T 31 18
R0 @t T @1 | yfga Al 9 9nf oiR & anf &t s e vafd! &1 Oqp B3 & o gy gn &1 @ @1 TS

JUTe I YRS & T AR 3¢ oo ©U U T3td B3 @1 (0¥ o T4 991 3eeRU TR &1 39 9~ o Trguidr SR
T=IUUT B Uichal 3a- Uid &3 U SHicHad §s © 1o 9gd HUBR & WY ol o ol b HetHRd H UOR & 9 yghml &
G 8l 9Id § ¥R UG @ig UGl Jel A8l & dl SU®GI UER H 307 G2 gHI Hf¥ohd ol g SUIley oM @i UiaHl &1 &fd &d
§U Bl Ml § [

o 9 % 9 & 9 Wy YRavY | 3fEe de=ud geEIR 1 aq Siadl |

(oliaH & Idfdy GouTdl U Ts= W ardl ol $8 JH HeHRT H 8, 981 304 g1 ol ‘HeIHRT H 981 §, 98 399 $al i el
i@

g deaiy - 9G4 9F &I B9l @ HTER aiyd 4w | digdes fean a8 dfearesor 99 & W0 AR 9ad9 &
41T 3pa &1 i &9 11 T 9F @1 ATl § faford a3 Feft daa A HIRd 31 URIarTd YRT S &0 S 384 31
P iad awT 1 I7d 34 FH UGS & SRU R fagd o7d # =ugar &1 yaf 3 &4 o oIk vd oo d9ked &
TG O GebrT i B SR faRmsiar &f ®H e & SR YR siied o H 3 Iichar 3 o o iR fiaq & T
RRaR &t T g5 1 310H T &7 H fafRiy i &1 e @ derdl e 3R 39% SR Ue 47 fagiw O favidieru &t d@st o
TrErHt = 5 fern




Which one of the following is given credit for the vigour to Indian Culture?

1. Acharya Abhinav Gupt
2. Maharshi Vedvyas
3. Maharshi Dadhichi
4. Acharya Balkrishna

1)
(2)
(3)
(4)

A W N =

YR TP & 96 UeH - & 97 food fear sman gz

1. A T T
2. e dg o/

2. Hefd et

4. 3raTd ATAHE

(1)
(2)
(3)
(4)

A W N R

1[Option ID=32289] Question Description : dwbv_pg_mcj_eng_2_q97
2[Option ID=32290]
3[Option ID=32291]
4[Option ID=32292]

Sl. No.98
QBID:63098




Read the following passage and answer the following questions that follows:

Acharya Abhinav Gupt can be regarded as Abhinav Vyas for synthesizing the various streams of knowledge, their collection
and orderly editing them. At one time, Maharshi Vedvyas had collected the available knowledge and edited in well-orderly
manner. This edited work proved so much important that even in the most adverse period, Indian culture used to get vigour
and maintain its continuum. Though Maharshi Vedvyas is regarded as writer of Mahabharata and Puranas, but he classified
them into four parts to relatively make the Ved Vidya easier. Maharshi Vedvyas is given credit for converting the oral
traditions of Indian culture into written traditions. He did this editing work systematically keeping in mind the psychological
tendencies and limitations. While writing Puranas, he demonstrated clear psychological understanding of the subject. He
wrote 18 Puranas to feel the singular element by the people of various sects. Various Puranas were prepared for the different
tendencies of Bhakti Marg, Jnan Marg and Karm Marg.

For the synthesis of available streams of knowledge and communicate them in natural way, Mahabharata is the best
example. In this text, the process of totality and synthesis was so much accurately expressed that it was confidently said that
Mahabharata depicts all the tendencies of the world and if any tendency was not covered, it was difficult to find elsewhere.
Therefore, while acclaiming Vyas it is said- “Dharme ch arthe ch Kame ch moksha Bharatarshabh. Yadihasti tadenyatra
yannehasti na tat kwachit.” (The Knowledge, related to quadruple effort of life which is available elsewhere. The knowledge,
which is not available in Mahabharata, it will not be found elsewhere.

Maharshi Vedvyas codified systematically the Sanatan knowledge according to the attitudes. This codified knowledge
became the source of nectar. While classifying the categories of Sanatan knowledge, Maharshi Vedvyas kept intact the
civilizational stream of India for the cultural system. Due to this classification of knowledge, the tendency of specialization led
the scholarly world and get rid of the attitude of some learnings. Due to the interest and specialization, Indian intellectual
community became active and touched the new highs. In the field of knowledge, specified experiments were promoted and
hundreds of other sects emerged.

FrafafEa T $1 u3 ok 59F 918 Uy &I 96 ¥ 100 9% F I S|

HEH YT T &l 49 & [ 4RI & Y0, 39 GUgUl iR Aaieyd UG- & U iiH—d o9 &I U1 &l & gl
21 Tt el deauy 3 Suas I & TUfRd B 3G Haiyd Yuie a1 ol 98 Juie- 1 a1 S8y gifed gai f&
fudia grarafy # off YR TEpfa U8t ¥ 99 U $d! W 3R 304 I19d $f §91U 1@ 98T | HEfY deay &1 #eIRd 3R
RV &1 TR of AT & ol §, S6i- a6 e & HUTEHd Tew a4 & [01Y SU@! IR YR H e of fsan

e decu &I YR Yhid & Hia® W1 ®I Ud g6 ab (dikdd UIWRT H SUrIRd 3 &I 49 g1 o1dr g1 3%iH 39
Hga Ul dd &I HUIGA A-ldsili-d Ugidl SR s of @ H Wad gu dgd goadiyd i d gl QRIvl @f To-1 3 dl gHd!
frufa FHiam® 999 &1 9gd WF ©U 9 &3 8id1 31 TP ¢ o @ [afdy UgRl & Qi & S & & [T 31 18
R0 @t T @1 | yfga Al 9 9nf oiR & anf &t s e vafd! &1 Oqp B3 & o gy gn &1 @ @1 TS

JUTe I YRS & T AR 3¢ oo ©U U T3td B3 @1 (0¥ o T4 991 3eeRU TR &1 39 9~ o Trguidr SR
T=IUUT B Uichal 3a- Uid &3 U SHicHad §s © 1o 9gd HUBR & WY ol o ol b HetHRd H UOR & 9 yghml &
G 8l 9Id § ¥R UG @ig UGl Jel A8l & dl SU®GI UER H 307 G2 gHI Hf¥ohd ol g SUIley oM @i UiaHl &1 &fd &d
§U Bl Ml § [

o 9 % 9 & 9 Wy YRavY | 3fEe de=ud geEIR 1 aq Siadl |

(oliaH & Idfdy GouTdl U Ts= W ardl ol $8 JH HeHRT H 8, 981 304 g1 ol ‘HeIHRT H 981 §, 98 399 $al i el
i@

g deaiy - 9G4 9F &I B9l @ HTER aiyd 4w | digdes fean a8 dfearesor 99 & W0 AR 9ad9 &
41T 3pa &1 i &9 11 T 9F @1 ATl § faford a3 Feft daa A HIRd 31 URIarTd YRT S &0 S 384 31
P iad awT 1 I7d 34 FH UGS & SRU R fagd o7d # =ugar &1 yaf 3 &4 o oIk vd oo d9ked &
TG O GebrT i B SR faRmsiar &f ®H e & SR YR siied o H 3 Iichar 3 o o iR fiaq & T
RRaR &t T g5 1 310H T &7 H fafRiy i &1 e @ derdl e 3R 39% SR Ue 47 fagiw O favidieru &t d@st o
TrErHt = 5 fern




In which text, various tendencies of the world are expressed?

1. Puranas

2. Ved

3. Mahabharat

4. Shreemad Bhagvatgita

1) 1
(2) 2
3) 3
(4) 4

TR P fafay gkl ®f i 9= 7 ifiyered fava &7

1. TRI0T
2. 48

3. HETHRA

4, gHg HTad i

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=32293] Question Description : dwbv_pg_mcj_eng_2_q98
2[Option ID=32294]

3[Option ID=32295]
4[Option ID=32296]

Sl. No.99
QBID:63099




Read the following passage and answer the following questions that follows:

Acharya Abhinav Gupt can be regarded as Abhinav Vyas for synthesizing the various streams of knowledge, their collection
and orderly editing them. At one time, Maharshi Vedvyas had collected the available knowledge and edited in well-orderly
manner. This edited work proved so much important that even in the most adverse period, Indian culture used to get vigour
and maintain its continuum. Though Maharshi Vedvyas is regarded as writer of Mahabharata and Puranas, but he classified
them into four parts to relatively make the Ved Vidya easier. Maharshi Vedvyas is given credit for converting the oral
traditions of Indian culture into written traditions. He did this editing work systematically keeping in mind the psychological
tendencies and limitations. While writing Puranas, he demonstrated clear psychological understanding of the subject. He
wrote 18 Puranas to feel the singular element by the people of various sects. Various Puranas were prepared for the different
tendencies of Bhakti Marg, Jnan Marg and Karm Marg.

For the synthesis of available streams of knowledge and communicate them in natural way, Mahabharata is the best
example. In this text, the process of totality and synthesis was so much accurately expressed that it was confidently said that
Mahabharata depicts all the tendencies of the world and if any tendency was not covered, it was difficult to find elsewhere.
Therefore, while acclaiming Vyas it is said- “Dharme ch arthe ch Kame ch moksha Bharatarshabh. Yadihasti tadenyatra
yannehasti na tat kwachit.” (The Knowledge, related to quadruple effort of life which is available elsewhere. The knowledge,
which is not available in Mahabharata, it will not be found elsewhere.

Maharshi Vedvyas codified systematically the Sanatan knowledge according to the attitudes. This codified knowledge
became the source of nectar. While classifying the categories of Sanatan knowledge, Maharshi Vedvyas kept intact the
civilizational stream of India for the cultural system. Due to this classification of knowledge, the tendency of specialization led
the scholarly world and get rid of the attitude of some learnings. Due to the interest and specialization, Indian intellectual
community became active and touched the new highs. In the field of knowledge, specified experiments were promoted and
hundreds of other sects emerged.

FrafafEa T $1 u3 ok 59F 918 Uy &I 96 ¥ 100 9% F I S|

HEH YT T &l 49 & [ 4RI & Y0, 39 GUgUl iR Aaieyd UG- & U iiH—d o9 &I U1 &l & gl
21 Tt el deauy 3 Suas I & TUfRd B 3G Haiyd Yuie a1 ol 98 Juie- 1 a1 S8y gifed gai f&
fudia grarafy # off YR TEpfa U8t ¥ 99 U $d! W 3R 304 I19d $f §91U 1@ 98T | HEfY deay &1 #eIRd 3R
RV &1 TR of AT & ol §, S6i- a6 e & HUTEHd Tew a4 & [01Y SU@! IR YR H e of fsan

e decu &I YR Yhid & Hia® W1 ®I Ud g6 ab (dikdd UIWRT H SUrIRd 3 &I 49 g1 o1dr g1 3%iH 39
Hga Ul dd &I HUIGA A-ldsili-d Ugidl SR s of @ H Wad gu dgd goadiyd i d gl QRIvl @f To-1 3 dl gHd!
frufa FHiam® 999 &1 9gd WF ©U 9 &3 8id1 31 TP ¢ o @ [afdy UgRl & Qi & S & & [T 31 18
R0 @t T @1 | yfga Al 9 9nf oiR & anf &t s e vafd! &1 Oqp B3 & o gy gn &1 @ @1 TS

JUTe I YRS & T AR 3¢ oo ©U U T3td B3 @1 (0¥ o T4 991 3eeRU TR &1 39 9~ o Trguidr SR
T=IUUT B Uichal 3a- Uid &3 U SHicHad §s © 1o 9gd HUBR & WY ol o ol b HetHRd H UOR & 9 yghml &
G 8l 9Id § ¥R UG @ig UGl Jel A8l & dl SU®GI UER H 307 G2 gHI Hf¥ohd ol g SUIley oM @i UiaHl &1 &fd &d
§U Bl Ml § [

o 9 % 9 & 9 Wy YRavY | 3fEe de=ud geEIR 1 aq Siadl |

(oliaH & Idfdy GouTdl U Ts= W ardl ol $8 JH HeHRT H 8, 981 304 g1 ol ‘HeIHRT H 981 §, 98 399 $al i el
i@

g deaiy - 9G4 9F &I B9l @ HTER aiyd 4w | digdes fean a8 dfearesor 99 & W0 AR 9ad9 &
41T 3pa &1 i &9 11 T 9F @1 ATl § faford a3 Feft daa A HIRd 31 URIarTd YRT S &0 S 384 31
P iad awT 1 I7d 34 FH UGS & SRU R fagd o7d # =ugar &1 yaf 3 &4 o oIk vd oo d9ked &
TG O GebrT i B SR faRmsiar &f ®H e & SR YR siied o H 3 Iichar 3 o o iR fiaq & T
RRaR &t T g5 1 310H T &7 H fafRiy i &1 e @ derdl e 3R 39% SR Ue 47 fagiw O favidieru &t d@st o
TrErHt = 5 fern




“Dharme ch arthe ch Kame ch moksha Bharatarshabh. Yadihasti tadenyatra yannehasti na tat kwachit.”
The above sentence is:

1. A Sanskrit sentence

2. To Comment

3. To acclaim

4.t is a poem of Mahabharat

(1) 1
(2) 2
(3) 3
(4) 4

o 7 o I B 9 Higl HRAEH]|
YiggId da-a4 gaglied 7 dapiad| I’

IRiad a1ag 91 foy fore &t 7t 82

1. 9pd a8
2. BT HEHBg
3. HWlddHed
4. HEMRd &) diadl &

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=32297] Question Description : dwbv_pg_mcj_eng_2_q99
2[Option ID=32298]

3[Option ID=32299]
4[Option ID=32300]
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Read the following passage and answer the following questions that follows:

Acharya Abhinav Gupt can be regarded as Abhinav Vyas for synthesizing the various streams of knowledge, their collection
and orderly editing them. At one time, Maharshi Vedvyas had collected the available knowledge and edited in well-orderly
manner. This edited work proved so much important that even in the most adverse period, Indian culture used to get vigour
and maintain its continuum. Though Maharshi Vedvyas is regarded as writer of Mahabharata and Puranas, but he classified
them into four parts to relatively make the Ved Vidya easier. Maharshi Vedvyas is given credit for converting the oral
traditions of Indian culture into written traditions. He did this editing work systematically keeping in mind the psychological
tendencies and limitations. While writing Puranas, he demonstrated clear psychological understanding of the subject. He
wrote 18 Puranas to feel the singular element by the people of various sects. Various Puranas were prepared for the different
tendencies of Bhakti Marg, Jnan Marg and Karm Marg.

For the synthesis of available streams of knowledge and communicate them in natural way, Mahabharata is the best
example. In this text, the process of totality and synthesis was so much accurately expressed that it was confidently said that
Mahabharata depicts all the tendencies of the world and if any tendency was not covered, it was difficult to find elsewhere.
Therefore, while acclaiming Vyas it is said- “Dharme ch arthe ch Kame ch moksha Bharatarshabh. Yadihasti tadenyatra
yannehasti na tat kwachit.” (The Knowledge, related to quadruple effort of life which is available elsewhere. The knowledge,
which is not available in Mahabharata, it will not be found elsewhere.

Maharshi Vedvyas codified systematically the Sanatan knowledge according to the attitudes. This codified knowledge
became the source of nectar. While classifying the categories of Sanatan knowledge, Maharshi Vedvyas kept intact the
civilizational stream of India for the cultural system. Due to this classification of knowledge, the tendency of specialization led
the scholarly world and get rid of the attitude of some learnings. Due to the interest and specialization, Indian intellectual
community became active and touched the new highs. In the field of knowledge, specified experiments were promoted and
hundreds of other sects emerged.

FrafafEa T $1 03 ok 59F 918 Uy &I 96 ¥ 100 9% F I S|

HEH YT T &l 49 & [ 4RI & Y0, 39 GUgUl iR Aaieyd UG- & U iiH—d o9 &I U1 &l & gl
21 Tt el deouy 3 Suas I ®f GUfRd $R IS afyd Yure a1 ol 98 Jure 1 a1 S8y gifed gai f&
faudia gmarafy # off YR T5pfa T8t ¥ 99 Ui $d! @1 3R 304 19 $f §91U 1@ 991 | HEY deay & HeIYRd 3R
TRIUT 1 ITIHR ol HHE1 81§11 &, 3514 de 1991 ®I HUATHd gl M & oY SHD! IR YR H favad i i

e decu &I YR Yhid & Hia® W1 ®I Ud g6 ab (dikdd UIWRT H SUrIRd 3 &I 49 g1 o1dr g1 3%iH 39
HgayUl w @I UG A-ldsili-d Wgidl SR sl of @ H Wad gu dgd goadiyd i d gl QI @f 941 3 dl gHd!
frufa FHiam® 999 &1 9gd WF ¥ ¥ G 8id1 31 TP ¢ o @i [afdy UgRrl & Qi & SHd & & [T 31 18
RV @t T @1 ufga Tl 9 9nf 3R & anf &t s e vaft &1 O S & o gy won &1 @ @1 e

JUTR I YRS & T AR 3¢ oo ©U U T3td B3 @1 (94 o T64 951 36N TR &1 59 9~ o Tguidr SR
=T B Uichal 3a- Gid &1 U SHiicHad gs © 1o 9gd HUBR & WY ol o ol b HetHRd H YOR & 9 yghml &
G 8l 9Id § ¥R UG @ig UGl Jel A8l & dl SU®GI UER H 307 G2 gHI Hf¥ohd ol g SUIley oM @i UiaHl &1 &fd &d
§U Bl M § [

o 9 % 9 &1 9 Hiy YRavY | 3fEe de=ud goEIR 9 aq Siadl |

(Slia & Idfdy GeuTdl U Ws= W ardl &l $9 JH HeHRT | 8, 981 304 g1 ol ‘HeIHRT | J81 §, 98 399 $al i e
i@

Tt deedry H Y0 §H &I FHghdl & IR Fafya 4l § diedias fea g8 SRaidy 39 & WEU ok d9da @
10 oga @1 9 &9 T GG I @1 AT H e ave Heft deeay A YR @1 §XdARTd YRT &1 H&00 §1 1@ B
ipiad awT 1 I7d 34 FH fAUEH & SRU R fagd 971d | =ugar &1 yaf 3 &4 o oIk vd oo d9ked &
TG § GedRT el T 3R fa2umar & M e & SR HRAY dliad S9d H 75 Wishgdl 3 o ol 3R fbdd= & =g
TRl &1 91 g3 | U T &3 H (328 WRT &l B3 &1 deral e iR 39db HRU Us &7 a8y U faefieru of dos! g
TIRaT3l - o ferar)




Ved Vidya has been divided into how many parts to make the ideal ideclogy of Indian culture easier?

1. Ten

2. Eleven
3. Four
4. Three

(1)
(2)
(3)
(4)

A W N R

YR Tpia & 36X [GIRYRI &1 Gew -1 & iU d e & fea urt 8 g mar g

1.9
2. WRg
3.9R
4. dH

(1)
(2)
(3)
(4)

A W N R

1[Option ID=31941] Question Description : dwbv_pg_mcj_eng_2_q100
2[Option ID=31942]
3[Option ID=31943]
4[Option ID=31944]




